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Lecture 1
Beginning Concepts: aplial)

Psycholinguistics is an interdisciplinary field of study in which the goals are to understand
how people acquire language, how people use language to speak and understand one
another, and how language is represented and processed in the brain.
() Caagd Adliae Cilacaditae 4 Jalaii Jlae sa ouiil) 43l le
laall L Lgiadlae s 3l Jiad oty (S Y (G AY) agd s Conaill Lalll 4235 (oY Al GlS) 25y (s))
The Creativity of Human Language ¢wdy!4ad 3 g1ay)

1- Humans can produce/understand infinite number of sentences. (possibly because
we know the rules governing how elements are used):

A good place to begin is by thinking about some of the unique features of human
language. Language is a system that allows people immense creativity. This is not the
same creativity of people who write essays, fiction, or poetry. Instead, this is the linguistic
creativity that is commonplace to every person who knows a language. The creativity of
human language is different from the communication system of any other animal in a
number of respects. For one, speakers of a language can create and understand novel
sentences for an entire lifetime.
Tl el Ly i A 5 5a) ol aall ey oa 4y i Lo Sl
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2- As humans, we can communicate anything we can think of:

A second important kind of creativity humans possess is that we can use language to
communicate anything we can think of. No other animal communication system affords its
users such an unlimited range of topics. Many mammals have complex sets of calls and
cries, but they can communicate only certain kinds of information, such as whether danger
is coming from the ground or the air, who is ready to mate, where food is located, and so
forth.
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Language as Distinct from Speech, Thought, and Communication
:dm\}ﬂ\} c)SéS\ ce)&ﬂucw\‘)w

Language is the primary communication system for the human species. In ordinary
circumstances it is used to convey thoughts through speech. It is a special system,
however, that functions independently of speech, thought, and communication.

Speech ought not to be confused with language, though speech is indeed the most
frequent mode for transmitting linguistic information. Other modes for transmission
include the gestures used in sign language and the graphic representations used in writing.

coald AU aISH YA (e JISEY) Jal Al aladind o Gstadl iyl 3 sl uiall JLaidl o)) Uil 4 G20
Iy Sl IS e Aline Leiisla

Jie Jaill 5 al 3ok @lin 4 salll e glaall Jail Lo gpd Y1 A8 ) g8 2SN () (e ae Il ARl 5 2DISH G LA aae cany
AL 8 deddiiall Apsia gill il gu ) g ARl Dl LA aladdnls SlelagY)

(Language is primarily oral, writing is a cultural artefact, speech is biological).

Writing in English : letters represent sounds VS. Writing in Chinese : symbols represent
words

The earliest writing samples are around 5000 years old.

(sl g DIy ¢ Bl Ry o B 4 ¢ g a Ha))
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Thought & language  _Sdll 5 4ll)

We confuse it with language because we verbalize our thoughts. p.4-5
about those who think but cannot verbalize? (infants, people with neurological
pathologies, or animals).

It is tempting to confuse thought and language, because we verbalize our thoughts using
language. The distinction between language and thought (or general intelligence) becomes
clear when one considers the many kinds of individuals who can think but cannot
communicate through language. Among these kinds of individuals are infants and people
who suffer from neurological pathologies that have impaired their language ability.
Moreover, many animals can think but cannot communicate using language.
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Specific lanquage impairment (SLI) and intellectual development. vs. Williams
Syndrome.

In the language pathologies, we observe pronounced mismatches between level of
intellectual development and linguistic ability. Specific language impairment (SLI) is
not a rare disorder in children without any neurological or motor pathology. In children
with SLI, language development lags far behind that of their peers. While there are
numerous cognitive deficits associated with children with SLI, their non-verbal
intelligence is within normal range and their cognitive deficits are not sufficient to account
for their language disorder (Leonard 1998). The flip side of SLI is Williams Syndrome, a
genetically based disorder causing severe retardation. Children with Williams Syndrome
are deficient in many other aspects of cognition. While some aspects of their language are
impaired (Jacobson and Cairns 2009), these children have surprisingly good language
skills, in both vocabulary and in the ability to form grammatical sentences (Lenhoff et al.
1997). Pathologies such as SLI and Williams Syndrome, that demonstrate a dissociation of
language and general intelligence, are of interest because they demonstrate the
independence of language and thought.

Gl k) (e (SLI) oald g il cinia 3y all) 508l 5 g ySall ) ohaill (5 siena (o gedal 5 (381 55 pae JanD ¢ Al Gl el b
Lo gl 4 )lie g salll ) shaill aaie Al JulY) e¥sa | S oa 5 aac ol L Gam Y il JakY) die 550l 0l
agl szl el jad Sy gl aa Jae (Sl ade il jal) agiSO of Gl jlaaY) g Cpbiadd) JalkY) e Baadt
Sellyg A ey O sibemall 025 CalAS oy (5 2 planal g 5 Galilig da Pliay iz ol phal 8 AV ¢ il (gl
Jaall Gl ig il jiall g Ldase 4 il O jlea agaal (O V) aginl Cimm (e a2 5l s Baae 48100 il s B Cinia e (sl
DSl g &l A e o n A age el 138 5 calall SA (e Aliaiie ARl o i el g A HMia s SLI Jie il V)

SLI @l sl Gl 9¢d 43t qiludis) o Jikal) 5 )8 atal (5 guas conen llia (IS 130 ;) oSl Wy 83 cilliadla
Sl g i (g 1) agSI Ll SLI Qi pkdly O sbiaall  Cildtia ab pSE (Sg Baxs agil Jalilyg da Pliey ¢ sibanll JLaiily
e agudl

Bilinguals can express their thoughts in two languages.

OLiAlie izly s HSB) e il agiSay Aadl) guil

Communication Ju<xiy!

Language is the primary communication system for human beings, but it is not the only
way to communicate, so language can be distinguished from communication in general.
Many forms of communication are not linguistic; these include non-verbal, mathematical,
and aesthetic communication through music or the visual arts. Frequently, language is not
used to communicate or transfer information; language can be used aesthetically (consider
poetry or song lyrics) or as a means to negotiate social interactions (consider how Yo,
whassup! might be the preferred greeting in some contexts but quite inappropriate in
others).
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1. one of the goals of psycholinguistic is to: (il 4l ale Cilaai aal
a- understand how the language is structured in society
b- | understand how people acquire language 4l (i) cudiS i agdl

c- | underside how sociolinguistic change
d- Understand how hearing works

2. one example of the creatively of the human language is that:

Ol Aad i gty e dbieY) sl

a- There are many language speakers

b- People can produce and understand new sentence 3uia Jaa aghs L) jdull (<o
c- People can repeat anything they can hear

d- There are several components of language

3. We can use...... our thoughts. Fill in the gap by choosing the correct answer:
D dasaall AlaY) LAk ¢ 1 Sl Lise e
a- language to verbalize sxaill dall)

b- Syntax to verbalize

c- Grammar

d- Mental lexicon

4. The relation between thought and language is:

Aadll g KAy A8

a. Same thing

b. Different cognitive process in the mind Jisd) 8 4alida 4 e cilles
c. No process between them
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Lecture 2

Some Characteristics of the Linguistic System sl alaill jailad (aey

Language is a formal system for pairing signals with meanings (see Figure 1.1)
Meaning —-Language——Signal ( language link between meaning and signal )
This pairing can go either way. When people produce a sentence, they use language to encode the
meaning that they wish to convey into a sequence of speech sounds.
The set of rules that creates sentences in a language is a language’s grammar, and the words of a
language are its lexicon.
Knowing a language involves knowing its grammar and lexicon.
Knowledge of Grammar and lexicon is tacit or implicit (tacit vs. explicit knowledge)
This special kind of knowledge is called tacit (or implicit) knowledge, to distinguish it from
explicit knowledge, such as your knowledge of a friend’s telephone number. Tacit knowledge is
represented in the brain and is put to use, in this case, in the production and comprehension of
sentences, but is not consciously available to the individual who possesses it.

enie 3l a8 ) BY) 1 3 LAY el G day G o e Slaadl ae LAY o) BY ey aUas s 4l

AN ) gl e Al 8l Jo) e el Gae il Al seadiing Alealdl pi) & Ledie ¢ JA

4 yra ey O cang A (gf A8 e Aalll 8 LS canmal) ARl 8 Slas (05 a0 ) Bl (e Ao gana o cARL) ao g8
(5l anadl 5 ac ) il

4 yeall (uSe Lgd pas clil alas Y (g ellic 6 G 3ac il (o yad Glil Jinay dlana 48 e (& aneal) 5 ac) il 48 yes
Caila a8 5] lib yraS ¢ Laall L Lelitad oy dyianall 48 prall Aa sleall CaniS) ol (e i yai g clalal W) 55l daal Sl
o yas loads 8 LA ) Lgd ya il a3 Y (815 Jaadl agh s 2} Jia dalall 5 Lgaadins 43 jeall 28 lipya

( e slaal

The Distinction between Descriptive and Prescriptive Grammar

Lgsn il g b gll 20 gl (el

Grammar (Linguists vs. teachers)

Prescriptive grammar = standard way of speaking (telling you what to do )

Descriptive grammar= language system that underlies ordinary use. (describing how people use a

language )

: Calzal) g G galll 0 ac gal)
(33938 o cony GBS e ) aantll Ll By ) — g ) 20 gl
(Al Ul aadiiy (aS Caay ) dalad) 8 bl 4eadion (o3 dadl) JUas = 4dia o)) ac ) 53l

The term grammar means something different to linguists than what it means to language
teachers. People who teach language are interested in teaching a standardized use of language, the
form of a language that is accepted in academic and business circles. We can refer to this type of
language as conforming to prescriptive grammar. Knowing how to adapt to the standard
(prescribed) way of speaking or writing is very useful for people conducting a job interview or
producing a formal piece of writing. People who study language, in contrast, are interested in
what is called descriptive grammar, that is, the language system that underlies ordinary use.
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Ex.

Many people who speak English — especially young people or people talking in informal contexts
— will say sentences like the following:

(1) Me and Mary went to the movies

(2) Mary and me went to the movies

Y LS el e Bl G0 () geadiion Gl Al o 4 30y G daaty cpdl) (alddY) e i

The universality of human language <l 4l 4ulle

Number of languages in the world (about 6000 different languages in the world)
HUMAN LANGUAGE = one lanquage?? ¢
Similarities of human languages and universality.

L laty) Jie 8 Lealiil 2 Al (of culalll JS Lail g san) g 4ad aali W g ddlila 50 T oo v Jga alladl 8 cilalll nae
6 OAT g4 S il lin g ciladia) @llia (il

Implications for the acquisition of langquage. p10 4xlll LS| e 4 yiall HEY)
Most children grow up in multilingual environments.

How is bilingualism possible (human languages are similar??

Not walking, speaking, or riding a bicycle. Impairment or learning issue??

G o SN ¢ i) ae o ailiadll (i 8 e Lan cilall) adaaa Y Gl g cchlall) anmte Ry () gats JihaY) alaas
¢ alad Alie ol Cona 58 Ja ds) 0l

How Language Pairs Sound and Meaning sixell 5 & suall G dall) day 55 (oS

In language, three kinds of rule systems make up a grammar:; phonological rules, morphological
rules and, syntactic rules. (The man saw the boy with the binoculars).have different meaning

p.11-12
((S2a o ST Jaiad Al Aaal) ) (g gaill g ¢ b peall ¢ 5 gaall 2Uail) -2alll ae ) gdl dadasl 0 s 4l 3

Three kinds of rule systems make up a grammar. Phonological rules describe the sound patterns

of the language; they are used to create individual words and are responsible for the rhythm and

intonation of speech. Morphological rules and syntactic rules are involved in creating the

structural organization of words and sentences, that is, the relationships between words and

phrases in sentences.

Oe A shuse A0 b il L) 8 230 Aall) 8 45 eal) Jalad¥) Cainy (5 guall aURH 222l ac) 68 20a3 daail C3G )
O Al o e 5 candl g LS el andasill o Lis) 8 Olacluy g gadl) aUH 5 & pual) aUSTH DIS 5 55 £ L3y
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Linguistic Competence and Linguistic Performance s sxlll ¢1a¥) g 3¢l

Linguistic competence: refers to knowledge of language (grammar and lexicon) that is in a
person’s mind.

Linguistic performance: the use of linguistic knowledge in actual processing of sentences
(production & comprehension).

A grammar and a lexicon are those components of language that allow sounds and meanings to
be paired. When people know a language, they know its grammar and its lexicon. This
knowledge is called linguistic competence. It simply refers to the knowledge of language that is
in a person’s brain (or mind), knowledge that provides a system for pairing sound and meaning.
Linguistic performance, in contrast, is the use of such knowledge in the actual processing of
sentences, by which we mean their production and comprehension.

) Jie 883 ga ge (<13 jaddl g ac ] g8l ) Aall) 48 e -dg gall) Belds)
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e 8 () sb yy agd Aalll (ulil) Co ey Latie il saa) pe inall oty o Al Aadll i S & 5 salll annall 5 sl
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The Biological Basis of Language &l i sall Gaud!

1- Lanquage Is Species Specific 333 g1 gif A 4all)

No other animals can have language

Can animals be taught human language?

Chimpanzee Washoe was taught 100 words from the American sign language (chimps don’t have
vocal tracks like humans) - Syntax ? is not language or syntax it's just word associated with

something

¢ ol A ala Lo Ja (S0 sl Ll (5 AT il i (sl an 8 Y
€ Al b Ja 31 (el e 5 g s llay ¥ ) Sy a3 5 JLEY) Aa) (a A8 )+ + Al \Washoe cs yieed
Mo g adaine A die oLudl LSl Loy 5y Laié g0 Y

If we define communication loosely as a way to convey messages between individuals, we can
generalize that every species has a communication system of some sort. If the system is species
specific — that is, if it is unique to that species — the system is likely to be part of the genetic
makeup of members of the species.
No other species has a communication system like the language used by humans. There are two
ways to approach this claim, and thus meet Lenneberg’s first criterion. One is rather obvious: no
other animals talk, nor do any other animals have a gestural system with the organizational
structure of human language. The other way to address this issue is to ask whether other animals
can be taught a human communication system.
e JS Jlail alai 4l & 53 IS Al aend () WSy ) )81 (g Jalas 1) JE1 48y HlaS adl 5 sa e JaiV) Ui e 1))
£ s 2] uall aUaill e e G allaill 138 () 6S) of Jainall (e - & i) UL oy 38 4] imay - d3aia £ ol Uil IS 1)
Dlame il 13 5 rele oVl 138 4 jladd ol Hha @llin |l Lpandiing ) A2l Jie Jlail alai 4l g 5 ol an 5 ¥
ol Al adatil) <) e Al aldai gl o Al ) gn o aa Y a2 ) C.@\Jﬁjyji JaY! Lenneberg
(i) Juai¥) ks i) gaal) agled Sy 13) J sl Ll



2- Language Is Universal in Humans <l ais dsalle dall)

Lenneberg’s second criterion — that a biological system must be universal to all members of the
species — is met by language in two ways. First, all human babies are born with a brain that is
genetically prepared to organize linguistic information;

Secondly, all human languages have universal properties.

There are close to 7,000 languages spoken in the world today and, on the surface, they differ
greatly. However, there are profound similarities among the languages of the world — so many
similarities, in fact, that human language can be thought of as a single entity.

JS Y iy lay A5l L L& £l s A il I Lalle Q}Sﬁoik._\;ggg}.)ﬂ\ plail) of Lenneberg 4 &G Ll
Asdle (ailad L il cilad JS il e gall) e glaall andaiil Uiy g antie §lad ageal s 058l g0 oyl Jladaly)
Gl (5 S 4l da ol Al @lld s | S (S0 Adline 903 L jalh cagl) alladl 8 Ldaia 5 Ve v Ly 85 &y

a5 QLS 4l Bl e (S o815l 8 callad)

3- Language Need Not Be Taught, Nor Can It Be Suppressed lgaad ) ¥ g 4all) alai ) zliai ¥

Lenneberg’s third criterion is about how biological systems consist of processes that are
differentiated (develop) spontaneously as the individual matures. This has two correlates in
language acquisition:

language does not need to be taught, and acquisition cannot be suppressed. Language acquisition
in the child is a naturally unfolding process, much like other biologically based behaviors such as
walking.

A ety Laiy AEL S5 () shatd) 5 lade Clilee (e 4 sl sl Al () 5S35 CaS 8 Lenneberg 2 Gl Ll
IS yeday JEbY) tie Aall) QLiS) LS aed Sa Y g Lgarled ) 2 lias Y Al - 51 el (LSl b ) 4 13
(el (5 AV panl) LS bl (re SN Jia s AT J8 Al o add 41Se Y Allite Ja) o B s

4- Children Everywhere Acquire Lanqqaqe on a Similar Developmental Schedule
Jilaia alaia y ghaty dall) ) gandiSy (flSa JS (A JLikaY)

There is a remarkable commonality to the milestones of language acquisition, no matter where in
the world children acquire language.

-Babies coo in the first half of their first year and babble in the second half.

-First word at the first half of the second year -one-word stage —holophrastic stage — early
sentences

Complex sentences - At age 5, basic structures are in place.

(no matter what lanqguage s/he learns, children make similar errors - goed-sheeps -masjidat)
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Wild children and the critical period ~ ds_all 3 il g 4, 5l Jlalkal

most researchers agree that the optimal period (best period) for first language acquisition is
before the early teen years, after which a fully complex linguistic system will not develop. The
evidence for this comes from reports of so-called “wild children,” particularly from the case of
Genie, a California girl who was locked in a closet by an abusive father for the first 13 years of
her life (Curtiss et al. 1974; Curtiss 1977, 1988). During that time, Genie was deprived of any
linguistic input of any kind. After she was rescued, in November 1970, researchers from the
University of California at Los Angeles worked for years with her to help her acquire English, but
to no avail. She acquired words and the ability to communicate verbally, but she never acquired
the full morphological and syntactic system of English.

e After the critical period, if the child didn’t acquire any language, he/she can’t acquire

human language fully.

55 aldai ()5S Ca g SlID ey ¢3Sl 4881 all 3538 U8 A (V) Al LY Al 5 iall () cpfial) alaes (3)
Genie Akl s (e 8358k "Gadia i) 5) Co ) ol &l DUl cend )85 (ga sa Iy La sy () e
Ay sl MR ol e n e A gl Gl o Lgila (pe A VT gl 3 1A Lgle Waall g slad A Wiy 88 e
e 5l g lalSl Cualad (5 gan (90 (ST 5 4 bW Aalll QL) e Lhae Lusdd Leaa Gl gid (o sialll Jac Ladlas) any

AW Al 3 8 jeall s g saill alail) JalS i€ ol LgiS) Jual il
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Examples of her utterances in (2) illustrate the level of her language ability:
Genie ¢ g sl (5 sisall a5 Al

2Genie tull stomach.

Applesauce buy store.

Want Curtiss play piano.

Genie have mama have baby grow up.
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1. The type of language knowledge that is in a person's mind is called
s paddl) mb@g;&@;ﬂ\&é)&d\&bﬂ N

a. linguistic variation

b. linguistic performance

c. linguistic mapping

d. linguistic competence 4 sl 3¢sl)

2. Language is species specific . That means :

2 13l Badsa t\)ﬂ s Al

a. language is likely to be part of the genetic makeup of members of the species
£ ol 1da pliaey all ol Al e g e Ll Jadiag dall)

b. language not part of the genetic makeup of members of the species

c. language is not specific

d. language is universal

3. Can animals be taught ( learn) human language ? choose the correct sentence
dapaall ) Al ¢ jd) A il gall adlad (S Ja

a. yes they can learn human language

b. they can learn some languages

c. they learn some languages with difficulty

d. no, they can't learn human language ) 4ad alas agiSay ¥ ¥

4. Language is universal in humans. That means :

e 1l ) e daalle 42l

a. All humans are born knowing language

b. All humans are born not knowing language

c. All humans are born with brains that are prepared to organize linguistic information
4 all) il plral) adaill panticen diadls i) asea alg

d. All humans are born with a ability to change the brain of information

5. According to critical period for language acquisition :

Aall) QLY da jall dls jall

a. It's the best period for language acquisition

b. no person can learn a language after the critical period if he not learned a language
before it

Gl 38 4l alay ol 1) A ) B 8 any A3d alad padd oY (Sar Y

c. only a second language can be learned after the critical period if he hadn't learned language
before it

d. only one language can be learned after the critical period

'Y
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6. The form of language that is accepted in academic and business circles to:
A lall 5 LSV il sall 8 4 giall alll ¢

a. Prescriptive lexicon

b. Prescriptive

C. prescriptive grammar_4ual 8y ao) gil)

d. descriptive grammar

7. "The set of rules that govern the creation of sentence in language The definition of:
riy et Aalll 8 Alaad) Ll e il ae ) il de gana

a- Lexicon

b- Universal grammar

c- Grammar =l

d- Mental lexicon

8. If someone tells a native speaker that he shouldn't say "me and Mary went to cinema ", but
should say "Mary and | went to the cinema ". This will be an example of:

S Laad Ul s s sbe " I o g S ¢l Laad (g jbe s Wi sl o cang W 4l Lilae Taaia jualf e L 13
e Jlia 138 M)

a- English grammar

b- Italian grammar

C- prescriptive grammar dsgea sil) i sl 38Y) ac) gil)

d- Descriptive grammar

9.Linguistic performance is:

sl ey

a- Linguistic variation

b- Language learning

c- Babbling

d- The actual use of language by speaking or listening g €ail) S (e 43l adl) afadiuy)
gl

10. According to the critical period hypothesis ............. (Choose the correct option to fill in the
gap).

(gl LAl il ) Zall) QLuiSY da jall dls yall

a- human can learn their first language after the age of 15

b- The optimal period for language acquisition is before the early teen years

5 Saall A8A) pall < gl Ju8 A Aadl) LSy Lial) 5 jidl)

c- Human can learn syntax after the early teen years

d- The worst period for language acquisition is before the early ten years

m
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11. According to the critical period hypothesis
gap).

(sl JLAD A ) dalll LSy da jall dls yall
A. around the early teen years

(a8l JS J& gay JLALN) 5Sual) A8a1 pall < i Jon (A ARl qulucsy  ial) 5 3l

............. (Choose the correct option to fill in the

B. before the age 5
C. before the age 8
D. around the late teen years
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lecture 3

Anatomical and Physiological Correlates for Language 4all oa ol saudll 5 sy 33 Sl Y

Is language stored in the brain ? Evidence? ¢ <liy) e ¢ ¢laall 84l o585 Ja

The most fundamental biological fact about language is that it is stored in the brain, and, more
importantly, that language function is localized in particular areas of the brain.

§Ladll 8 520n0 3halia 83538 paie Aalll o2 o D (e ad W15 g Ladll 8 0535 Ldl o Aalll Jga Ln o) sl (330Es) a

the Evidence:
-Paul Broca presented the first case of aphasia
-Aphasia is a language impairment linked to a brain lesion.

-The patient was called ‘tan-tan’ because he was not fluent.

10 years later, Carl Wernicke reported a patient who speaks fluently but his speech was
incomprehensible.

Both had brain injuries (left hemisphere lesions)

Neurolinguistics is the study of the representation of language in the brain, and the discovery of
aphasias led to the birth of this interdisciplinary field.

) el 4 5 1l JBa) i gphasia . (aphasia) 2SI e 330 olas e Als J 5 238 Paul Broca L siSal
st S5 Al tan-tan as ade Ul A oy ) 138 Sl SIS £ Lol

1z I (aphasia) 2SI e 5,08 ¢lais e s il Als Carl Wernicke e AT canda 238 <l giss )+ any

e sgie 43S (S) o1 (ST dabiady Siaaty IS () sl

(Al Jia )y paadieale eels ) a1 (e sall (B ) pin ) gleall A dbal agual (i yall DS
GLES) s Glaradil) e Jlaad) 138 Glas) I ol Les o(Neurolinguistics) duasll 4:ll) ple agle sl ¢ Lol
aphasia

Broca’s aphasia vs. Wernicke’s aphasia <l yd 5 518 5 (pallall aic SIS e 3 )aal) lagd o, 45 H)lae

3l 4 ) o) THE BIOLOGICAL BASIS OF LANGUAGE 83
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dabhiall o4 8 ) jm (ol 13gd At lafiual) 5 agdll (e Jgmse o 3al) 138 Calall 8 a5 el yb dilaie & W dikaid)
O L B s s Apmand) lilaall dadlas 5 Jliin) e A sue (b N i) oo A dlaiall cdrans Lo agh ae
Aagd ) axann le dilat e 58 e (g jall 068 Waslaie

2all A8 ja e A g pasal) A8 al) dilaiall & M Aiaial)

DBl e Ay gua o8 5 &g padl Akl 4V ddkidl)

(Balaall (8aga e ) golaadl padll s ceall padll G diady Jlidis 34 4 S Al

Broca’s aphasia = agrammatic (only words - no syntax / non-fluent)

Wernicke’s aphasia = incoherent and meaningless.

olina o sgda ol Jayl jia e ADIS

Competence or performance?

Broca’s aphasia, also known as non-fluent aphasia, is characterized by halting, effortful speech;
it is associated with damage involving Broca’s area in the frontal lobe of the left hemisphere.
Wernicke’s aphasia, also called fluent aphasia, is characterized by fluent meaningless strings; it
is caused by damage involving Wernicke’s area in the temporal lobe of the left hemisphere.

& ol Lagi pe g 5 2DISU L A i) g edadll Auailiad (e - 483U () 52 duns Lyl a5 - Broca’s aphasia
Jaaly - A8Uay ds Liayl e - Wernicke’s aphasia el (e ¥ 3 S Caall gaall (adll 8185 5 ddhaia
el e ¥ 8 S Caail e auall padll el yb dihie (e gl ) el Cas 138 5 L Jixe Y 48D

The speech associated with Broca’s aphasia has been characterized as agrammatic; it consists
of primarily content words, lacking syntactic and morphological structure. In contrast, the speech
of people with Wernicke’s aphasia has stretches of grammatically organized clauses and
phrases, but it tends to be incoherent and meaningless. In conversation, it appears that people
with Broca’s aphasia comprehend what is said to them, while people with Wernicke’s aphasia
do not.

i Ll LSl e oS5 (2058 (e JA e Jagrammatic 45 WS Ay Jasi jal) OIS Caa g o
o LSy cdalaia 4 ga <l e 5 Jan Saahy el b Ay Jasi jall wDISN Qi) & A jeal) 5 4y gl a5l

Y el 8 dsny ) sibaall (815 aed JIE La () ggis 1S 9 Ay () silaaal) Ddlaall 3 seia ima Ld Gl 5 Ayl e
Al ey La () sagdy

Language lateralization §leall 2 4all) 48l g a8) ga Saas

To say that language is lateralized means that the language function is located in one of the two
hemispheres of the cerebral cortex. For the vast majority of people, lanquage is lateralized in the
left hemisphere.

Aailly Apeleall syl (85 SN deai (o dal g Al Adds g (ISe O (ixg 1368 ka5 a8 g Ll ARl () J o Laic
Aad) 3 KU e ¥l g jall 8 aca e ARl QA (e ddlal)




ARY

The hemisphere of localization is related to handedness, left-handed people being more likely
than right-handed people to have language lateralized in the right hemisphere.

el e ST (o pmall ) () sadiin (Al (alAEY) e Laall (ha s ) 1agn il 5F (s pul) 2l Lialadiial Jagi 5y
Al 5 S e i) dgall b aadie A3l S e ()5S,

control of the body is contra- lateral: the right side of the body is controlled by the left motor and
sensory areas, while the left side of the body is controlled by the right motor and sensory areas.
Thus, left-handed people have right- dominant motor areas, while right-handed people have left-
dominant motor areas.

Agual) dihidl g ) S el culad) Ao 5 4g aSal 2 anad) e ) cailadl sBaliaie 48y yhay Caaay anally oS
O sedinng (pAll (alAY) Gl 38 5 dpuall ddlaiall 5 a1 S Al Cailadly 4 aSadl) i duad) e e Cailal) Loy
Soal el (e 5k agadl el Bl ¢ saakivn (pdll (aldY 5 (el (Soall culal) (o s slam aeaal (5 puull
Y]
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Lateralization and bilingualism 4l il g A ¢l yaasl)

Some brain lesions affect both languages, some affect one language more than the other, while
some affect one language but not the other. 86

Al e lpmm Sinlain ¢ 6 AV o JSToaal 5 48] e i Loy ¢ (falll WS e gladll (yal yal (any i3
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Split brain patients (o el ¢ley (34

Epilepsy patients. = cutting the corpus callosum

Naming an object can be difficult. (on screen or in hand) 87
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1. Neurolinguistics is : iz dsasll dall) ole

a. the study of the representation of language in the brain
glaal) A dall) S A o

b. the study of the processing of language in the brain

c. the study of psycholinguistics

d. the study of grammatical knowledge

2. Aphasia is : Sz 228 e 5 a8l )

a. a language impairment that is caused by the language.

b. a language impairment that has no clear reaction.

c. a language impairment that is linked to a brain lesion.
lasll (ol pal A 6 13 A

d. a language impairment that is not linked to a brain lesion.

3. Broca’s aphasia is : # S 4

a. a fluent aphasia,

b. non-fluent aphasia, 48 ¢y 54 dwss
c. not caused by a brain lesion

d. a result of the lack of communication

4. Patients with Wernicke’s aphasia speak : O3k ¢l b Ay () slbaal) (o sl
a. fluently but their speech is meaningless 4 Jxa ¥ agadls (<19 48y

b. non-fluently but their speech is meaningless

c. they didn't speak at all

d. fluently and their speech is meaningful

5. To say that language is lateralized means that the : x iy aa s Led sl b J 5l
a. language function is not in any of the two hemispheres

b. language function is not in the right hemispheres
c. language function is not in the left hemispheres

d. lanquage function is located in one of the two hemispheres
ddal) 5 Sl Al aaf B 43l Adds g aa g

6. Control of the body is contra- lateral which ; b aSa5 g8 awall 3 2Sa3l)
a. the right side of the body controls the left side of the brain

b. the right side of the brain controls the right side of the body

c. the left side of the brain controls the left side of the body

d. the left side of the brain controls the right side of the body

pesdll O Gl quitad) (8 Elaal) (el cuilal) aSay
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Toeinann, is the study of the representation of language in the brain:
§ Lol & 4alll Jiias Al 50

a- Neurolinquistics (zeasd) 43l ale

b- Psycholinguistic

c- Aphasia

d- Localization

8. The speech of patients with Broca’s aphasia is characterized:
S5 Ay () plbiaall 23S jaaly

a- fluent

b. Non-fluent 48k s

c- Wcrneck's aphasia

d- Meaningless

9. "Language function is located is one of the two hemisphere of the brain . This is the meaning

of:

feine s 13 MLl deai aal i dall Adds
a. Psychoanalysis

b. Location

c. Hemispheres

d. Lateralization (3! saail)

10. choose the correct statement; Asasaall 3 5Lell yid)

a- The left hemisphere controls the left side of the body

b- The left hemisphere is controlled by the right side of the
c- The left hemisphere controls the right side of the body
asdd) (el i) 8 sl Eladll Cial aSaly

d- The left hemisphere controls the right hemisphere body

11. The left hemisphere controls the right side of the body, means
i 138 anall G Gal) cailal) 8 ¥ ¢ Laall Caal Koy
Contra-lateral suaall asadl)

m
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lecture 4

Lanquage acquisition is fascinating (e.g. L1 acquisition) a3, ! s dall L)

Dichotic listening experiment Dichotic §laia) 43

Further evidence of the dominance of the left hemisphere for language comes from studies of
dichotic listening. In this kind of experiment, participants are presented auditory stimuli over
headphones, with different inputs to each ear. For instance, the syllable ba might be played into
the right ear, while at the same exact time da is played to the left ear. The participant’s task is to
report what was heard. On average, stimuli presented to the right ear are reported with greater
accuracy than the stimuli presented to the left ear.

¢ osladll ee il s 8 A duald b e Lad il jo e S ARD ¥ 8 KU ol e e A0Y) e )
Sl o 38 ¢ JEa) S e o3 JS Al MR pe ¢ el ) e law e Amand) ¢l diaall (S jLiall slac) a4
o giall (d drans Lee LY 8 & Laal) Aage Jiadi s ) 531 8 da Jasnds A Lain ¢ el 5391 8 ha adaidll

L paddl ) e A g el Cilguiall (e 58T A il 031 ) deaiall cileial) e $3LY) AL

Right ear advantage for lanquage, why ? € 13kl (dall Juadj iadd) 0390 Ja

This is known as the right-ear advantage for language. It occurs because a linguistic signal
presented to the right ear arrives in the left hemisphere for decoding by a more direct route than
does a signal presented to the left ear. From the left ear, the signal must travel first to the right
hemisphere, then across the corpus callosum to the left hemisphere (Kimura 1961, 1973). Thus,
information presented to the right ear is decoded by the left hemisphere earlier than the
information presented to the left ear.

Coaill ) Joai Sl 3V ) dedial) 4 galll 5 5LEY1 oY el Chany Aall el 3 5 jae anls Ca g yzall o 138
JEs o g ¢ s ) Y (e s el 031 D) Aadiall 3 HLEY) e b pdlie ST AG ey Ly i Gl $Laal) (e )
OAYY VT ) 5a) e 5 80 Caal (I 0 el s Jealdl) sl jae 23 ¢ a1 3 S0 Caas )Y 1 5 ,L3Y)

&) Fadiall il glaall 8 Adall 5 SN (e ) Cauaill 3 ) 31 ) dediall cila slaall 3,080 ol b ¢ Ul
s ) Y

The Acquisition of Lanquage dall) qluis)

Language acquisition could not be possible without two crucial ingredients, which we discuss in
the first two sections of this chapter:

1- A biologically based predisposition (readiness) to acquire language

2- Experience with language in the environment.

i) pe Za0 A a3 Y Halll CLiSY (5 gin daxiad )
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A Biological Predisposition for Language 4l (s ssal) dla=in)

If human language is a genetically based characteristic of humans, represented and
processed in the human brain, then it follows that a human infant will acquire that
system as its brain develops. This is called the nativist model of language acquisition.
The nativist claim is that the developing brain provides the infant with a predisposition

to acquire language; but language acquisition will not happen in a vacuum. The child
must be exposed to external input to construct a grammar and a lexicon with all the
properties associated with human language.

s il Jalal) Gl amy i) $la b el Jii Leild puall ailmd e Iolaie ) 380 55 o4 4 ) Al S 13)
JEla Al L) Apaals oy 63 boual) 723 gaill iman ) any Lo 138 42 Lad sl s pLail) 13 i€y i g

Y Al L) (g il SLaiSY 1alanian) agd 50 JURY) §Lad sad o A ylaill o3 e (g saleall o ST oyl
A i) Al A yall paibiadll IS ae dianaal) 5 20 58l el da jla A Jilal) (m pay G g $1 8 B Sy

All biologically based systems require ‘environmental input’. (eyes, muscles)
"Aai COA AL " A gaal) dalaiy) U< bl
No input ? no acquisition  <LasSIY OMaa Y

But input without ‘something’ to process it is not sufficient for acquisition.
ZAL LSY BAS ol giallaad e 81 ()50 ciSaaall (I

Chomsky (the linquist) proposed the Language Acquisition device) LAD:

Chomsky (s gl allall 4all) ludis) jlga

100 THE ACQUISITION OF LANGUAGE 4l Las)

el : LAD Cla jaal
Input: | (Language Acquisition Device): Output:
Signals I o i
in the child’s enr\llironment : bliaiaaliana [Grammar
éigii‘;s’) I . (principles, parameters) o
in one language | S
or more than one language | acquisition strategles Lexicon |-
e e gyt | W hond 5y (e« ) e 5 —
EXTERNAL I INTERNAL panal

Zala Julge 3l clilee

|
el f sl (B sa A bl cliladl Jads Bl e il Al QLS 3 A1l Z eal s Aus il gl (AN dahail e £,) (S0
SR JS ) T g Tgamadll g 20l o ¢ B g AR e S 35 S JUY) S 1Y L GLaSY) e ml b Ay ¢ panally TR
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Acquisition strategies 43l qludS) Cilbia) i)

Acquisition strategies determine what will be the most salient and easily acquired aspects of

language (e.g.. sensitivity to regularities). p. 101

Another part of the child’s biological endowment is a set of acquisition strategies that enable
the child to take the input from the environment and construct a grammar that conforms to the
organizational principles of UG. These strategies, or operating principles (Slobin 1973, 1985),
determine what will be the most salient and easily acquired aspects of language. For instance,
children are highly sensitive to the regularities of language (e.g. past tense -ed or plural -s).

ARl L) g gain g5 A gg il gad) ST ale Aalll L) cilyn il jinsd 208

4 Aol L) (e A 23 (e Jilall e ) 2l QL) Clal jind s Jalall 4 ol ) miall (e 5aT 6 30
By rle Jadill (gabia o Cilagil WY ol 2aa3 Auallal) e gl ae dpaadaiill galual) ae AaiDliall 4 gaill ae ) ) ol
¢ Ul o o) Al ol ola 43l s JULY) (585 ¢ JUial) o e 2l L€l = a5 5 A ggos i) sl
Al dl) apeall o ading s ganll 5l Leie bl 2 5 a0n LalS alethy Ladie Jinay (gandl sl il je oalal

Characteristics of the Language in the Environment 4l & 4alll pailad

The primary purpose of a child’s linguistic environment is to provide information about

the language the child is acquiring. Psycholinguists call this type of information positive

evidence.

1 Je wsil) Qs elade gllay Jidal) LeandiSy 0 Aall) Jga Cila slaa yid g o Jadall 25 sall) L) (e oY) Caagll
) Jala Gl glaal) (e g gl

Who are the providers of positive evidence? ¢ dulagy) AaY) gatia ab (ha
Obviously, the main providers of input are the people who interact with the child:

parents, caretakers, siblings, and any other children or adults engaging in routine
linguistic interactions with the child. In this section we consider the general
characteristics of care- taker speech. We stress that children need to be talked to:
experiencing input provides children with positive evidence about how the language
works.
o e 5 e 8iY) dle N adia (JaY) ikl ae o sleliny cpAll (alaiY) aa a1 EOAAA adiy e o al sl (e
il dalall pailiadd) ) jlais andll s 8 355 IS Jakall e Ly sad ¢ sle iy Gl bl 5 JUilaY) (e
I Al Ay QLD A () ey (Al 6 5al) (553 e Cyaall dalay JULYI o e 2ais Ale ) e Jgmsal

Should we ‘teach’ children language?

USA vs. some Brazilian tribes (lingquistic exogamy) -unlike endogamy-
Some children are rarely talked to .Children end up acquiring language

Al JA00 (e ) s 0 Cidag - (ALl 2 A (e ) s 3l bl bR ) Ak 51l QLAY joany Jilie 1S, yal
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Gany M ALAY 7\ (e g o ol Bsall e b sidy JHGAN Gany Ja3loa) (A 1Sl (e Ailad) Aa) -
3gd Aol Al (e JAST (198 mg a9 JULY) Ll (g AT ) AL (e ALl DR Gy A3 (e JES) () gl agell Lin
Sual gill cpa £ oil1 130 () g Aal) JUlY) anlat 8 aga ABAL) Jual gil) (g iy Bandial) LN ol A Laly | AES

Aath Ban) g Aa ¢y 08 a9 O 9y LIS 5 agliad gy g

It is clearly not the case that parents or other caretakers need to “teach” language to their
children. Research over the years has revealed what kind of language experience
caregivers need to provide for children and what kind they do not. Caregivers do need
to provide linguistic input to their children, and opportunities for interaction with the
input enhance acquisition
£ 5 oo Onndl e o Gl i€ dle J casia ol Y U8 e Gl aganled ) JELY) zling Y 45l il 5l1 4
(aelilY A gal A e i ) e ) patia ling e sis JalaSU la i s e )1 paia Lealing 301 253l 5 5,40
Asll) L) e MRl e Jelill Al i
the information must be conveyed in an interactive setting. But children do not need to
be rewarded, or encouraged to imitate the language around them, or corrected when
they produce an error, and caregivers do not need to alter the way they speak (or sign)
to guarantee successful language acquisition.
3¢ agd o e ARl Al e agaani ol ¢ sliSe ) JWbY) #ling V5 Ale L Ay b Ol shedd) J8 oy o cany
A 265 Al i) el (3LEY) ) pgiant 8y yla it ) (g saling V5 el () 585 ) Ladie Lgngna
() oaaill vie Julay)
Summarize previous points: A&l il (el
1. We don’t need to “teach” children language. p.103
Al )l edia 5F JAY) U8 (e Aadl) aganles Y JlalaY) 2 lisy Y
2. Care givers need to provide linguistic input to their children.
aglilaY 4 gal CMlade anis ) dle ) sedia zlisg
Information must be conveyed in an interactive setting.
Ale 16 45y 8 il sbaal) J88 o o g
Rewarding for imitation, altering the way of speaking & error correction are not necessary
to guarantee language acquisition.
Gl L) lanal Uy o pad sl V) macls (@SN 48y pla puat ¢ lil) e 5,
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THE ACQUISITION OF LANGUAGE 105 4l JUky) axdei iy ¥ 4] o JUa
)

Child: Want other one spoon, Daddy.

Adult: You mean, you want the other spoon.

Child: Yes, I want other one spoon, please, Daddy.
Adult: Can you say “the other spoon$”

Child: Other ... one ... spoon

Adult: Say “other”.

Child: Other.

Adult: Say “spoon”.

Child: Spoon.

Adult: Other ... spoon.

Child: Other ... spoon. Now can I have other one spoon?
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negative evidence is ungrammatical language that the child hears.
Children mostly hear ‘positive evidence’ or input and rarely hear ‘negative evidence’ or
ungrammatical language. p. 105

E.qg. word order is acquired at 14 months (before 2-word sentences = before receiving any
feedback on it)

ikl ey G (A5l ae) gl o Y Al ) dpae) B sl ARl sa L)
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. Choose the correct option from the following statements : 2l Jaall (3 dagaall 3 jLall i)

a. we should teach children language to help them learn faster

b

. we should only correct children’s mistakes

c. we shouldn't teach children lanquage because they will acquire it

L gantiSonn agly JUilaY) dad anlesi Unle cuay ¥

d

2

. we should only correct ungrammatical language

. In dichotic listening tasks, there is a :<lba dichotic &laiw 4 a5 4

a. left-ear advantage for language

b

. right-ear advantage for lanquage 4l | Jadl o3y 5 jua

c. no language advantage

d

3

. both left and right ear advantage for language

. Language acquisition is not be possible without two crucial ingredients one of them is:

Laaaal ¢l o peate ¢ s Aall) Gls) Sy Y

. a biologically based predisposition to acquire language A&l Gluisy¥ (o g Jaai)

o O T |

. a biologically language

. being taught language at an early age

. None of the above

. The Language Acquisition Device contains : s siss aalll LSl lea
. universal grammar and acquisition strategies «iSY¥) cilia) iu) g daalls ao) g8

o O T B~

. universal grammar and lexicon

. grammar and lexicon

. universal grammar and input

. What do we call the input the child receives? Jakll lalali sl 3lAall cend 13

. Negative evidence

. universal grammar

. positive evidence (=l Jua

o O T 29 O

6

. positive output

. Who are the providers of positive evidence to a child acquiring language ?

A i€y Jalal Aplag¥) A1) padia ab (g
a. teachers at school

b

. people who don't interact with the child

c. people who linquistically interact with the child Uit Jikal) aa ¢ e iy cpll) (alddy)

d

. teachers of native language

¥
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7. Choose the correct statement from the following : 40Ul Jeall (e dssaall 5 jlal) idl

a. Children's caregivers must encourage them to imitate the language around them to guarantee language
acquisition

AR ) el pgl s (3o ARl 465 e g JULSU dile ) atie e can

b. Children's caregivers should correct their mistakes to guarantee language acquisition

ARl LS (el agildad] mamat JAbBU dle ) eaie o any

c. Children's caregivers should provide opportunities for interaction

Jolill ya 8 b gt JULM Ao ) adha o

d. Children's caregivers should reward them imitation

il e agidlSe JulB dle ) edie o o

8. What is the negative evidence in the child's input ? Jilall c3lase & Sl Jaall sa W
a. insulating language

b. encouraging language

c. correct language

d. ungrammatical lanquage 4 gd il 4l

9. Universal Grammar and acquisition strategies are components of :
-l S (e AliSY) laad) yiad g cdualladl ac ) gall

a. Psycholinguistics

b. Chomsky

c. Language acquisition device 4l cluis) jlga

d. Grammar and lexicon

10. when is the incorrect input the child receives, Choose the right option.
Al eV sl Jahll Al msia je JAaY) (5S Laie

a. Negative evidence (ol Ji

b. Universal grammar

c. Positive evidence

d. Positive output

11. A possible provider of positive evidence for children is : s Jilall aa¥) Jdall i e
a. The mother Y

b. High school teacher

c. The brain

d. The heart

12. choose the correct statement from the following: 4l Jaall (1 dasaiall 3 jlall jid)
a. Children's caregivers must change the way they speak to children

JULY) pe agiand 44y yha s JiA dle )l edie o cany

b. Children's caregivers should reward children for imitation

Al e Julay slilse JikY) dle ) adie e cany

c. Children's caregivers should interact with the child using language

dall) a)adiuly Jilal) aa Sl Als ) gadia ol o o

d. Children's caregivers should correct the children's mistakes

d\.ﬂai}[\ glad] @;..43 d\AEY| %\.&J ‘;AJE.A LAQ Qan
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13. To ensure that children acquire language.............. Choose incorrect opinion from the
following statements:

daaaall g€ Y g3 Al JULY) L) (e Sl

a- We must use language interactively with them

b- We don't have to reward them imitation

c- We must alter the way we speak to make is easier Jgui Ldaal agaa duaadl) 48y b it Gy
d- We should use language with them

14. Our brains provide us with: — L s 3 Lz

a- Positive evidence

b-The biological predisposition to a quire lanquage 4l claiSy o ol gl Jlaniay)
c- Negative evidence

d-the output

15. ... is the linguistic input the child receives from people around him. Choose the correct
option

dapsaall A Al Al Gl Gull) e Jalall Walaly Al 3 gall) Bl

a. Negative evidence

b- Output

c- Positive evidence (=¥ Juall

d- Preverbal message

16. Example of possible providers of positive evidence for children are:
JULIU Al Y] edie o dlaing Al

a- University professors

b- People with no linguistic contact with the child

c- Parents, siblings .and care-takers ¢widalall sl8&Y) (JaY)

d- School employees

17. Language acquisition is not be possible without two crucial ingredients one of them is:
Laaaal ¢l peaie ¢ s Aall) Gls) Sy Y

a. experience with language in the environment &l ae aalll 4 a5

b. a biologically language

c. being taught language at an early age

d. None of the above

18. The biological is to acquire ..................... language.
Gl clssy g pall

a. Predisposition alaiuy)

b. Preposition

c. Process

m
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lecture 5
Developmental Stages L skill Ja) s

< From before birth to 12 months gd VY da 5 sl J8 Aia
In fact, sensitivity to language seems to be present even before birth, since the earliest
exposure to linguistic input is in utero. Hearing begins to develop during the second
trimester, at around 18 weeks of gestation, and by the beginning of the third trimester, the
fetus responds to auditory stimulation. full-term fetuses (38 weeks of gestation) have a
preference for their own mother’s voice over that of a stranger (8.8 nonths), as indicated
by increased fetal heart rate and body movements.
After birth, children recognize their mother language as distinct from other languages

JMM\J#&H,P)l\ds\a%}ﬂl\ﬁmw)&d\uaﬂ\&s'éa‘j}!\dﬁwha);ywuwmwoiﬁg
IS any Agmanadl ol 3 el etV cpriad) oy G Ala yall 3900 ae s Jendl (g e sand VA (a3l Ala
il (s gy WS cely al) (alddY) e aY) Cgea Ganay o (0l eSS - Jasl) (e e sand YA ) (pinl

s AY) clalll e s e Ll e 23 agiad e JhY) Cojaty oY sl sduea S ja g cpiall 8

% In the first half of the first year(1* six months): of life infants interact in a variety of
ways with their caretakers, but their vocalizations are primarily soft coos and gurgles that
are not at all like actual language.

OS89 (bl IS peihai (815 caglile ) o (el g ddlidn (3l gl Jeldy (1Y) Al (s SIsY) el A
Y e dal Hiai Y 58 8 o AddA SLE U Ay ylay

% In the second half of the first year (2" six months): true babbling begins. Babbling
consists of single syllables at first, always consisting of a consonant and a vowel. Usually
the consonant is a stop consonant and the vowel is /a/. At first the babbles will be
strings of similar syllables, like baba baba. Later, the babbles will become more varied,
e.g., baga bada.

The vocalisations have sentence-like intonation

Caya Ay g oSk Gy Bale o dgladl 80 e adalia oo 5 ke o5 Bkl Tay @ J5Y1 Al (e U Cacatl) &
Gl alaliall o K3 dlad) 3 (fa/ 1) & et Coya 4adh plosive <88 5 caoa o &S Sl el Lle ol jaiia
lgr 2y ¥ O gual 3 jae Sl o22 ) baga bada Jie ddlisse adaliadl (5S35 3aY &5 baba baba. Jie gl

(Y1 sl Y Jakall
Aaal (5hai o i i 5 (iS5 i L) )5Sy <yl

% From 12 to 24 months
it is not until between 12 and 18 months that children produce their first word. The first
word is often indistinguishable phonologically from babble, but it is identifiable as a word
because it has a consistent referent. The child will spend a few months in the one-word
stage of language, also called the holophrastic period, because each word conveys as
much meaning as an entire phrase. The word milk, for instance, will not only be used to
refer to milk, but it will also be used to request milk, to observe that the cat is drinking
milk, that milk has been spilled, and so forth.
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S 3Ll e L e ey Y ol (YN A VY el b oa JahAS i s 5ed YE L) 5ed VY g
Leale (3l clgud Tyl aaily 38 5 Ban) o) Al Ads ya Al jall 538 (cansi AalSH pan o 393 5 e gl (i yeill (S
Y osa cula ALK Jie 5 e S 8 Adlida 3 le Lo ey 28 Jakall Lo & 4K JS Y lid g Ban) g dalSy juamil) § 458 Liayl

3 5 ecudall Gl el Ll oyl o e 2 )T U1 oS 38 cculal) ) i ey

Underextension vs. overextension. p.111 (e.g .flower X rose vs. dog= cat). uaaill Jalia aaail)

During this early one-word period, the twin phenomena of underextension and overextension
are features of word use. Underextension is a case in which the child will acquire a word for a
particular thing and fail to extend it to other objects in the same category. For example, if a child
learned the word flower in connection with a rose and did not extend its meaning to other kinds of
flowers, this would be an example of underextension.

Overextension is more common, or perhaps it’s just more noticeable. Overextension is when the
child will extend a word incorrectly to other similar things. For example, a child might call all
four-legged animals dog, or everything that is bright light.

paslil) ALK aladin b Clen Gaglitl) g paall) oallaias el - saal o AWK - Al pe a5 Saall 5l 238 PDla
laty cJUall s o A6l (i (30 AT IS e Waline s 58 (A (s 5 Aime A8 e Jilal) L Jucany Alls o

] JL&JY\&J&\&}@\&QU&Y@JJJ\L?&?AS{)AJ‘\.ASJSJ:JE

Alg s e dilly maia e J5 A Jahll pu g Lavie 13 5 ¢ SST TaaDle ()55 38 5 ST il g8 aaaill L

e gada pdalis o 5 S 5l ccalS Ja )l a1 @l Gl el OS e Jalall sl a8 QU Qoo e 4dlie

¢ When the child’s vocabulary approaches about 50 words, two interesting things happen.
1. The child starts putting words together to form rudimentary sentences.
2. Words are learned more rapidly than before, so much so that most children are said to
go through a vocabulary spurt, and the rate of acquisition of vocabulary increases
dramatically.
6-year old children roughly know 8000-14000 words. Average of 4-8 new words every

day.

oliDU o i ) el hasy A 00 Ja ) Jadall chls yia sl Ladie

A01an) Alea (oS e IS aca g 8 Jadal) oy )

el GluaS) Jana 212 39 ecla jiall 380 oy 5 e JbY) b Jli a8l Aa (8 e ST Ao s S Aty Y
el s JSy

_\.:\Aﬁg"_ﬂ.AS/\_i d.JM..ac:\AS\2~~~ - A u)\_hﬁuujsﬂu\}mﬂ )Ag‘ﬁdtﬁky\

% The preschool years 4w sl J L dla ya
As the child leaves the one-word stage, vocabulary development speeds up and children
begin to combine words to form small sentences.
As sentences gradually lengthen, a useful index of language development is mean length
of utterance (MLU). The MLU for a child is computed by adding the bound and free
morphemes in a language sample (e.g., 100 intelligible utterances) and dividing by the
number of utterances.
There is high correlation between MLU and age.

b Jea IS0 Lae LS wan 8 Jilall oy s g puid JS30 <2 jiall ) ghai - dan) gl S - Als o 2y

Aau 52 s oy (MLU) 238N Joba dacagin ga g Aalll ) glat (sl e piipa aladianl oy oJ shat T Jasd) o Ly
(A sgie Al Y v v Jlie ) LS dae e Fis guie Gy i) Aiue 8 B 55 s e ) ga Adlia)

ool pE5e 30 ) peall 35 LalE ¢ yanll s pEgall e Jad) yi el




AR

an example of sentences produced by a 23 month old girl (no morphemes or subjects sometimes):
(JeliYylasdjoa Y ) Lgd VI _jandl po il sLd) Joa Ao Sl

No Hannah mess. Want juice. Mommy like it.
No Daddy mess. More cracker. Go subby [subway]
Where go, Mom? Daddy push in swing. Mom, talk phone

1-No bound morphemes or tense markers on verbs or plural markers.
2- No subjects
Jeldaap ¥ Y aaalls sl drdll 5 Jie Jaall ciledle 5l sae e e 22 58 Y ) 4l Jaall e Jaady

¢ Third year.
Sentences gradually lengthen, bound morphemes and function words emerge
Morphemes emerge gradually in a similar order (e.g- .ing present progressive - Kitty
sleepin
Children sometimes overgeneralize the past tense -ed in situations like (he eated or he
goed).
Around the age of 3 (with much individual variation), the child will begin to produce
complex sentences.
Ex.
| want Mommy do it.
| see you sit down.
Watch me draw circles.
[ don’t know who is it.

i Lenady T g s o Ll Al g9 Jag Y1 g Bl bty gall i g el 5 b Jand) T (ASIAN 4l
() (asill Jedll s 5 ASLls o alall ed S geadl 5 43 Y5 ing il ) 4l

eated, goed Jis (oaalall Jaill Ledle dilial 8 Gla¥) (ans JilaY) dady

AL LBV | 3aieal) Jaad) z i) 8 Jadall fay (oo ) (35 8l CaDlia) ae) Ly a5 43I 4ol &

This is a very important linguistic development, because it means the child has developed
the last capacity of the syntax — to create complex sentences out of simple ones. A
complex sentence is one with two verbs.

Children begin producing relative clauses spontaneously around the age of 3 or 4

EX.

a. The cow that the horse kissed nuzzled the sheep.

b. The horse kissed the cow that nuzzled the sheep.

Jaall Aas Jan (e Bdina Jon o LY - Ll 3 a1 5 0l gk o8 Jaball o Jiny 4Y ¢ Al aga (g 52) sk 18
SIS Al o B s M sa s gie IS5 D) Jaall o oS Jilall Tay | clad e (g 5iad ) o 338adl)
Anll ALY

There is a considerable period between the time a child first uses a past tense marker
(form) and consistent use of past tense. (First, the child uses a morpheme, then will not
use it sometimes then after time will always use it correctly around 4 years)

Al A ) sl aadiion Aol 8) Lo Gusiall a3V (95 ye J ol Jadll Aadle Jikall aladiial (b S 3 5 cllia
(L a1 e i 231y JS0 Ladiiio 13 ey mamn (S0 Lgadiiiog Y 335 538
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+ Later Language Development
At around 5-6, language becomes more systematic
children of 7, 8, and 9 years of age could correctly produce words with derivational
morphemes that do not alter the pronunciation of the stem to which they are attached (such
as —ness, —ful, and —ment)
discourse ability and metalinguistic awareness develop as children grow older.

Suad Y Al AEEEY) Cilad ) sal) 2UL JkY) Tan 40 ALY jee 8 JlhaY) uagie ST AR ¢ K5 1-0 A A
ol (8 JalaY) s ae ol o sl sl 5,08 ki (—ness, —ful, and —ment) Jie 4 g 1 a5 Al s

(Aden 55 cualg bad dlalg 8 pualanal) (8 352 90 J g2l 8 La JS : PowerPoint gl s b Las 3 paalaal) (aidls

Age of the child properties of stage

Pre-birth sensitivity to language.

Hearing begins to develop around 18 weeks of gestation. (4 months)

By the third trimester, the fetus responds to auditory stimulation.

Pre-birth to 12 38 weeks old fetuses have a preference for their own mothers’ voice over
months that of a stranger. (8.8 months)

After birth, children recognize their mother language as distinct from other

languages.

1°" six months: | Coos «gurgles

Babbling (e.g. single syllables -CV). p.109
Second six months | The consonant is usually a stop sound. Vowel is /a/
The vocalisations have sentence-like intonation

First word -12-18 months (one-word-stage).

This is also called a ‘holophrastic period’ (e.g. milk - | want milk - the cat
is drinking milk..etc).

Underextension vs. overextension. p.111 (e.g .flower X rose vs. dog= cat).
When the child’s vocabulary reaches about 50 words, the child starts
putting words together and s/he starts learning new words quickly.

6-year old children roughly know 8000-14000 words.

Average of 4-8 new words every day.

12-24 months

Children show knowledge of L1 word-order.

Mean length of utterances (MLU). (free & bound morphemes in a
language sample/ the number of utterances.

There is high correlation between MLU and age.

Preschool years

Sentences gradually lengthen, bound morphemes and function words
emerge

Morphemes emerge gradually in a similar order (e.g- .ing present
progressive - Kitty sleeping)

Past tense mistakes (e.g‘ .goed ’indicate overgeneralization).

Third year Complex sentences are produced (with variation).

Children begin producing relative clauses spontaneously around the age of
3-4.

In general, there is a considerable period between the time a child first uses
a form and consistent use of

it (e.g. past tense).
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At around 5-6, language becomes more systematic

start to use derivational morphemes (e.g. -ness- «ful and- ment .p124-125)
7:8 & 9 year olds | Discourse ability & metalinguistic awareness develop as children grow
older.

Al o) Y e Al

1. Which of the following utterances ( words ) is a possible example of babbling?
Ll e JUie (QlalS) ) <l jladl (g

a. Ministry

b. Street

c./bbb/

d. /baba/

2. children's start ........ 6-12 months after birth. Choose the correct option
Ao all AY) A0 33V sl amy 5ol VYT e s k)

a. Cooing

b. Babbling 3Ly
c. Simple syntactic structures

d. Complex syntactic structures

3. The utterance ( word) /mama/ is a possible example of:
e Jaiss Jis mama 4K

a. Babbling sty

b. Mental lexicon

c. Cooing

d. Crying

4. Which of the following stages is called a holophrastic period:
Ban s AalSy ypual) Al e (ansi AN Jalyall (e 6

a. Cooing

b. The one word stage 3:a) ¢l dal<l) &a 1

c. Preschool years

d. Phonological

5. A baby knows the word " flower " in connection with roses, but when we ask the child to name "
tulips” or any other types of flowers he says he doesn't know. This is an example of:

3l o a3l e AT g il ol "l gl " s O Jilall (pe i Laie (815 ¢ 25 )51l (alacty Lad "3 a3 A€ Jikall oy

rsle Jha oy Y

a. Over learning
b. Over generalization
c. Over extension
d. Under extension (<8

m
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6. What happens when the child's vocabulary reaches 50 words ?

S o0 ) Jalall ila jie Jua Ledie ¢aaay 13ke

a. He starts learning vocabulary items ve uickly (vocabulary spurt
(1 hal) (3B I8 (e JIS) Aoy cilalSl) alaty

b. He stop leaning more vocabulary items for a while

c. He starts producing his first word

d. He doesn't know their meaning

7. we use ........ to measure the length of learner's utterances
(‘J’_LJ\ PN Jsb ol e

a. Language

b. Mean length of utterance (MLU) o3l J sk Jaw gia

c. Verbs

d. Nouns

8. Which of the following is a possible sentence produced by a 23 months old child :
1 oed YY o_yee Jila ol o Leali) (Sae 2000 Jaall (e
a.l am planning to pursue a phD

b. Mommy talk phone

Y Gadll dadl) -5 Jia cilashjga o o giad Y Alaal)
c. /bada/

d. My mother is talking on the phone

9. Babbling starts : sLill lag

a. in the first half of the first year

b. in the second half of the first year g% il e S diuadl) 3
c. in the first half of the second year

d. in the second half of the second year

10. The sound / bada bada / are possible examples of : e Jla (1al2 L) & sea¥)
a. cooing

b. gargling

c. babbling 3Lk

d. crying

11. The one-word stage is also called : (e 3aa) 5l Al A ya
a. a holo stage

b. holophrastic period 54s ¢ dalsy ) Ua 4

c. a cirictal period for language acquisition

d. under extension

m
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12. A baby knows the word 'dog' for the animal ;however , horse, he calls it 'dog'. This is an
example of :
ot Jhe 13 QIS liaall o Gl @l a5 (Ol spaS QIS A ikl (i 2y
a. overlearning
b. under learning
C. overextension i)
d. under extension

13. What happens when child's vocabulary reaches 50 words :
L& on ) Jalall il yie Juad Ladie ¢aany 13

a. he starts putting words together \as cilalsl) auag 3 jan

b. he starts to create complex sentences

C. overextension starts

d. underextension starts

14. What do we use the ¢ mean length of utterance © for ?

MO sk Jans sia" addiasd 13a b

a. to measure the length of small words

b. to measure the length of learners’ utterance  alziall a3 Jsh (julil
c. to count the number of words produced by parents

d. to count the number of words produced by children

15. Who is more likely to produce the following sentence ' Mom talk phone ' :
Mom talk phone 4l dlaall ZUiY ST ma sall (e

a. a 12-month-old child

b. a 23-month-old child ) & YV iy Jik

c. a 5-year-old child

d. an adult

16. Choose the correct statement from the following : 2l Jaall (e dasaall 3 jlall jial
a. once a child starts using a morpheme , they continue using it

b. children will use morphemes variably first then they used later on .

WBaY L patdiiany af dglad) (B 45 glile quudy cila ) gal) JuikaY) atdinn

c. children will start using morphemes at the age of 7 years

d. children will not use morphemes correctly even at the age of 7 .

17. Children will start using derivational morphemes :48EEY) Cilag ) sall Ll JikY) oy
a. after 24 months of birth

b. after 30 months of birth

C. 4 years after birth

d. after 7, 8, and 9 years of birth 8¥ ¢l aas <l i 4 9 AV 2y

Yo

m
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18. One of the characteristics of the one-word stage is .. ( Choose the correct option)
daa) ol AWK As ja ailiad gaa)

a. A child may use incorrect sentence

b- A child may use a word instead of sentence Jaall & Yy cilalsl) addiuy Jikl)

c- A child may produce correct sentences

d- A child may produce sentences instead of words

19. How do we use the mean length of utterance?

IS J s Jans i i (i

a- The total number of words divided by 50

b- Add the humber of free and bound morphemes and divide by the number of utterance in
a language sample

clalsl) ae Ao daguala dy il e (B BaiBa g b o e ) ga b

c- The number of free morphemes multiplied by the number of

d- Add the number of words and then divide by the number of utterance

20. Who is more likely to understand pragmatic references in discourse :
rasdl 8 38l gl wa) yall ) gagdy o) Yilaial JSY) b e

a- A one year old a boy

b- A 17 vears old boy s & ¢ b e dalud) b s

c- A five year old girl

d- A 23 month old child

21. A child knows the word " dog", other day he sees another breed of dogs and fails to know that
it's a dog . This example of:

rte Jlie 138 IS A3 46 jea 6 Qi g NS (e ddlide A AT 4 gy 8 sl ¢l AalS oy Jilall
a- Overlying
b- Overextension
c- Underextension g<dsil)
d- Underlying

m
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lecture 6
] ’ L
- LANGUAGE —> W»
Al l
Meanlng Signal
8ylayt

(PASY (A e Gl o o geall A ga) S LY day o3 o4 AalD Y)Y S0
PpASY e ¢ AGgea d LY 505 ¢ JSAD (5 SE Ga ¢ sl e pluad) Jladd
(Al 000 o oSany ¢ RS sS f oSaa) sl VIS 333 o a5 Y

A Model for Language Production 4 Uy 73 ga

What do we call the idea before it is verbalized ? #2S ) Lebisad J8 b il 3 <6l e 13
The production of a sentence begins with the speaker’s intention to communicate an idea or some

item of information. This has been referred to by Levelt (1989) as a preverbal message, because
at this point the idea has not yet been cast into a linguistic form.

s el odn b 4sY Al Al iy Levelt 4l JLal 85 3aslea 5588 Juay) Caaniall (5 5 Ladie Alaall £l oy

(9 IS amy Lga yha oy G5 4l
The girl pets the dog ISl el slidl)
(:JM‘ ')jf“ Ty ,amwl "‘"J"‘“‘" I m
Encoding (Spoakar) c )-‘ ‘5 -‘ - \f- -4 -
' Laxical
e = > rwSymrsc:tit: - ::ombgical _,Ans;n:;gri }\

e e i e [0 gnl  f3idl i v
Gt R X I e
A
) e A

. pets 4 | |

\.4 v the q

oSall =l

2 Aad ST Al e lan (33 )S80 e (o (padll o B ) puall

¢ 4alll 3 G,y 13l

ot s b sha Jsb U dlee fa

(sl ) IS () 3L LIS Ll ) Lexical selection dmeazall &l LAY 0 5 e A Al g il fas )
(=)

(Aaadl S 5348 20 ) Syntactic representationgs s>l Jaadll | ¥

S e Al 21 ALY (S seall Z1 A (g il Jiadll il aa y4 :Phonological representation st sl Jiiadll Y
(s

Ghill Jlead & pall il jaall Jla ) & Articulatory systemsleadall ) (ahaill JUas ¢
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Production in bilinguals and second language learners
Al Al _alaia g dadl) AU OIS L)
When a bilingual is speaking in a unilingual mode (only one language), only one of the
grammars is consulted to build structural representations, and the active language’s lexical entries
are activated. When in a bilingual mode (when the bilingual’s two languages are being used in
the same conversation), access to both grammars and lexical items from both languages must be
possible.
¢ A LT oLl Jad saa) g 3 ga Bac 8 aladiul A o Jad sas) 5 4ad) Aadl) galal aca s 8 ARl U Goad Ladie
OsSa L (Aaad) Guds el ooy Ladie ) dadl) AU aca g 8 Ll Adadil) Al dnaaaal) COYALY) Janii Sy g
oiall) MUST Ui danaall YY) 5 4 gaill ae )58l ) J gana )
Any results of knowing two languages ? il 48 jaal gilidl) La
knowledge of two languages has at least two important consequences for language production:
1. it permits intentional switching from one language to the other, and
2. it triggers occasional unintentional slips into a language not active in the conversation.
One type of alternation between languages in bilingual speech is code-switching.
Code-switching is switching between two codes (two languages, or two distinct dialects of the
same language) within the same discourse.
A third category, tag-switching, involves the insertion of frequently used discourse markers, like
S0, you know, | mean, etc.

Arll) Y daled) i) e il JBY) e Lagd (i 48 2

Hidlad) 3 3dads el Zall) 850 e e OV () 6050 Y 5 e al () Bal e deaiall Jail) ransy )
Rl ey sa s Aalll Al Al g Jalll g il (g g 58 llia

s el e (Aadl) G (e Adlida cptingd o ¢pial) G day o dpail) e 8 jle Joal S
i\.’aicéﬂﬁ;d&c))&d&@emg\gw\i\uﬁsg\)dﬁ\éstgjbl\,‘uQLAM\&.\,\SWLL\A,\SJ\QA?)}
oAl ey ¢ el ¢ i

Steps of speech production S =) &l glad
Planning Speech Before It Is Produced 4alil) Ji8 aMsl Jadaisl)
Producing a sentence involves a series of distinct operations and representations: lexical,

syntactic, morphological, and phonological. There are five stages (study them)

L0 e ned A5 A gy ¢ S ¢ A g ¢ Aanae sdlidal) R cilileall (pe Al Aleal) 2] ey

1. Accessing the lexicon pazall J a5l

2. Building simple sentence structure Aoyl Aleall oLy
3. Creating agreement relations Gl LEe oLl
4. Building complex structure Baizall dlaall el
5. Preparing a phonological representation ssall Jiall slac

1- Accessing the lexicon axaall J sa sl J Y1 dda o)

lexical retrieval. Remember that the lexicon is a dictionary of all the words a speaker knows. A
lexical entry carries information about the meaning of the word, its grammatical class, the

syntactic structures into which it can enter, and the sounds it contains (its phonemic

representation).

m
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((small Lebiad) Lile (5 gind Al ) a5 ¢ Lol Jai o Sy (il & gail) il g 4 gl L g AalSl) ima J5a

How can a word be retrieved ? 4Kl cleaiul (S asS

A word can be retrieved using two different kinds of information: meaning or sound. more
common words (frequent words) are retrieved more rapidly: for example, it is easier and faster to
retrieve the word knife than the word dagger

k) Lo sud ST el glesind iy <gual) gl Hral) le sheall (e Cpilise Cpe s aladiuly Lo 4alS glexinl (Say
iR S e ST S AalS s il g 5u ) Jen) (e ¢ JER i e 2 ST e s (380

How quick is lexical retrieval 4als gle diw) 4s pu 54 La
The speed of conversational speech varies by many factors, including:

age (younger people speak faster than older people), sex (men speak faster than women),
nativeness (native speakers are faster than second language speakers), topic (familiar topics are
talked about faster than unfamiliar ones), and utterance length (longer utterances have shorter
segment durations than shorter ones)

on average, though, people producel00 to 300 words per minute (Yuan, Liberman, and Cieri
2006) which, at the slower end, is between 1 and 5 words (or 10 to 15 phonetic elements) per
second.

(Notice that this includes the time it takes to build syntactic and phonological representations and
to move the articulators« not just time actually spent in lexical retrieval.) Clearly, the process of
accessing words is extremely rapid.

el g2l e 22e 0 g g pledinY) Aoy alias
OISl ) Al gal) o bl (g gyl ¢ ginaty Jla 1) ) o Gpinaall (o il JS ) giaay LAY ) pand)
(Bl 58l e ol Lgie Cuantll 1 %8 gl ol sall ) o pn gl (A o) dlatie (ho g pud ) Sany )
(3 _pal) LY (o il dia ) adalia Led J gla¥) culalSH ) aDISY) J gk
© 5 ol (Cieri 2006 s Liberman s Yuan) 4adall 338 Yoo 1Y v la Guldll ity ¢ o giall 8
Al b (W pm  Jamie VO 1Y 0 ) S
(o (8 yciasall b)) Tyl ¢ ol Sl J g A5 guall 5 Ay il ABLail) ol 48y o) Sl Jady 138 of LaaY)
LS g sl e s (30 a5 138 ((annzal) cleXin)
How many words do adults with high school education know ?
$ 4 gl 8 G alll) alama Led pay A culalS)) dae oS
Around 40.000 words
+40.000 people names, places and proper names.
retrieving 1 word from 80.000 words in less than a second (remember 1-5 words per second)

must be extremely efficient. p.142
Frequency and lexical retrieval. (e.q. knife vs. dagger)

L all £l ga

Aida cland g (Sl cadil ol il §0 S

Jas Yled oS0 o oy (Al 8 il 00) S ) Al e Ji1 (8 A Call A e Baa) 5 A gle il
il AWl e e gl oS A glediad U S0 LS
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1. In speech production, the idea of a person's minds to communicate is called :
rdaal sill Gad il (a0 (8 (S5 Al B Sal) e (DS L) 8

a. preverbal communication

b. preverbal message 4w Aluy

C. syntactic representation

d. phonological representation

2. In speech production, which of the following is operation performed first :
Vsl o3l ) sy b Laa o a2 L) b

a. syntactic representation

b. phonological representation

c. lexical selection 4saaaall <l LI3Y)

d. morphological representation

3. When a bilingual is speaking in a unilingual mode is :

LAY Al pa g 8 Al ol Caaay Larie

a. access to both grammars must be possible

b. access to one grammar is possible 83l g 4 gai 3aslil J g sl (Sa
C. No access to either grammar

d. only one access to lexicon is possible

4. knowledge of two languages has at least two important consequences for language production.
One of them is :
5 pat 2al (s sl LI Aalel) G G o Y1 o Lol () 4 pna
a. unintentional slips into a language not active in the conversation
alaal) 8 ddadd puad) dall) 8 Baguala 1€ N A s
b. unintentional of the words not active in the conversation
c. unintentional use of grammar active in the conversation
d. intentional use of morphemes

5. People can retrieve words , in lexical access , using two different kinds of information:
Cla slaall (o uilide (e 55 aladiuly ¢ canaall Jgaasll & ¢ LS ol il (alaidl (Say

a. syntax or morphology

b. meaning or form

c. sound or meaning (saally < gal)

d. sound or form

m
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6. In speech production, the phonological representation stage follows ( comes after ) :
a. Semantic representation
b. Phonological representation

c. The syntactic representation stage s>l Jiail) dda 4o

d. Lexical access

7 When a bilingual speaker is speaking in a bilingual mode:
azlll gduea}gsw\guumuum

a. Access to both grammars and lexicons must be possible
LOiadl) DSt Ukan dsaaaal) cNASY) g 4y gadl) 3o ) g8l ) J s od) ()08
b. Access to one grammar is possible

c. Access to neither grammars is possible

d. Access to the lexicon only is possible

8. Knowledge of two languages has two consequences for Language education.One of them is :
5 agie aaly Aalll adad o e Lagl (il 33 jaa

a. Intentional switching from a language to another ¢ A/ [ 4& (o taafial) Jasil)

b. Speaking one language only

c. Unintentional use of grammar active in the conversation

d. Unintentional use of phonology

9. Lexical access ( lexical retrieval) , we use two kinds of Information are they?
Gl slaall (pa Cpe 53 a2d0i ¢ (anaall gla i) anadll J pa )

a. Phonological and allomorphs

b. Lexical decision tasks

c. Allophones

d. Meaning and sound < gally sl

10. In speech production, which of the following operations takes place after the phonological
representation: o5 sall Jiaill sy sy 6l Clileall e ol ¢ 2SN L) o

a- Syntactic representation

b- Lexical access

c- Articulation (ladall o (ahill aUss

d- Morphological representation

11. Lexical retrieval in Lexical access means: iz aaaall Jsea ll (8 onadll slexin)
a. Processing the word after remembering it

b. Forgetting word

c. Making a word ready for processing ( recalling it)

d. Producing a word's phonemes <talsl) il g grlii)

£
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lecture 7

Lexical retrieval errors aazal) cpa clalll) glo di gUadl

The following errors give evidence that words are organized by their meaning
() J oY1 £ sl ddlatia oladY) o

(3) a. | just feel like whipped cream and mushrooms.

{1 just feel like whipped cream and strawberries.}

b. All I want is something for my elbows.

{All | want is something for my shoulders.}

c. Put the oven on at a very low speed.

{Put the oven on at a very low temperature.}

d. | hate ... I mean, I love dancing with you!

; ‘ ol Lo elbsY ods o Ladli - 53S0)) # i
i LT Ll g o . Jod an) ) 2SN plasd] puis lgsan S LETT 60 g e Sy Ciond ¢ irally (3leii (IS
lgoloiiv) Ao i) LalS 48556 5 483 8 AR anxall o laeledin o L] OlalSl] ileo (o bl Cinag 4 ina
(el bl Clald)) 5 sie (b3 fia ) 5$8 (5 2 4alS S
The following errors show us that words are organized by their sounds:
(Cgall) AU g gilly Adlaia pUadY) o da
(4) a. If you can find a gargle around the house ...
{If you can find a garlic around the house ...}
b. We need a few laughs to break up the mahogany.
{We need a few laughs to break up the monotony.}
c. Passengers needing special assistance, please remain comfortably
seated until all passengers have complained ... uh, deplaned.

o pacal] i S LT G & gually dileiao (S oL Y) o - 53S0 ~ i
138 (5 5] LalS o g sum 4Ly ¢ 54813 8 ARJA) aneal] (o Lagle i) o U] ClalSH < puaf (g LS Ciaay 4] ira

Tip of the tongue phenomenon ( obedll caha Je) 5 a4l

A phenomenon in lexical retrieval that has fascinated psycholinguists for decades is the tip-of-
the-tongue phenomenon (Brown and McNeill 1966; Aitchison 2003). A tip-of-the-tongue state
occurs when the speaker knows the word needed but cannot quite retrieve it.

dﬂudﬁc'&)&w\a& u&uw\uﬁécﬁﬁ&@jd)ﬂw\ ;LASLQ.\ESGAMA\ ;LCJMY\QABJALH\EJA
.L@bm\@&g‘jgﬁjuyﬁ&d\ K Eraniall

2- Building simple sentence structure 4aswl) dlaad) oLy Al A yal)

Grammatical encoding = consulting the internalised grammar to construct structures

Speech errors provide information about some of the characteristics of the representations that are
constructed .

IS il 4 pail) e il sle e zis gail) e il
Lo glal) 5 S Jiadll patliad aen il daa DS pUad Lag 3
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Exchange errors. Jsaill slad)

These errors give evidence that there is a simple sentence structure stage
Aapad) Alagd) pliy A ja 3529 o Jala eUadll ola

(5) a. | left the briefcase in my cigar.

{1 left the cigar in my briefcase.}

b. ... rubber pipe and lead hose ...

{... rubber hose and lead pipe ...}

O e Jadll g wes¥) iy b 375 Ao CLalSlS il a5 Sy 8 Lyassl] Al l) oLis 3 COUR Y 5 inas
Lolad ; bls L gni dlaal) S i
3- Creating agreement relations (a8 sil) cildde gl AN Al yal)

a. The bridge closes at seven.
b. The bridges close at seven

S 13 Jadll g Alial e 5 3580 Jeldll (IS 131 Jail - Ailial e caanll s iall s (38 ) clidle ¢ iSall 4
e Jeldl

4- Building complex structure sl dlaad) ¢l dayl ) dda jal)

(12) a. The large and raging river ...
b. The river that stopped flooding ...

Syntactic priming. (e.g. what time do you close? Seven — At what time do you close? at seven)

(Al (3¢ glas iy ol (B - Aalad) $lad e ¢ QW) Jiw o) | s 9adll judaadl)

; ; (s (e )

gl OIS s Ao i f il pans 53] SIS l] e (50 5 ) CiLISELY Dy gail] dagadl] Cilis] jl] asaiai A
oo Jsgaall il s S dlan 08ty saiuad] sl l8 ¢ Jsgaall el dua 4 dles Lot/ /.1/4_;/;,;@_, /38
Al 5 cclaf a cia Cilia) Lodie g cdaslial) laf £ 515 e w Lodie o] Jal] 6 LaS ig gun pall i

5- Preparing a phonological representation (s geall Jefiaill dlae) dualddl s sal)

15. look at the following errors in phonology 4 s« sUadj g gias dtiaY) oa
(A Aol s Aa pal) 03 B & gually Ablaial) pUaRY) (5o A3 Gy ABAS)

segment exchange error (< sa e & ga Joaif) 2 adl Joal) Uad
a. hass or grash
{hash or grass}

perseveration error ((5_nall) ol I3 ) sl Uaa
b. I can’t cook worth a cam.
{1 can’t cook worth a damn.}

anticipation error (Aeslall 4asll (e a8 gie < ga ) S5) o8 il Uaa
c. taddle tennis
{paddle tennis}

m




123

The example in (15a) is an example of a segment exchange error, in which the exchange is
between two phonological elements: the final consonants in the two words. In (15b), we have an
example of a perseveration error, in which a segment (in this case the /k/ of can’t) perseveres
and intrudes in a later word (so the speaker utters cam rather than damn). In (15c), the example is

of an anticipation error, in which a speech sound that has not yet been produced (the /t/ of
tennis) intrudes in an earlier word.

15D JUl 8 el (ga Y GSLall Gaaldl s i e 0 3 O Gl o s 5l uaill) e 153 (3 JUd)
i 5 A Y1 4K sl 3haid (can't, cook e /k/ ) Aleadl Ay o S5 gaall Gf a1 8300 Uad Ll
) 2z st ol ¢ gea Jaay s adgil) o il Uas Luad 15¢ JBall L3 damn oe Yo cam Ghis /k/ & sl
L Al Y1 AU 3 (tennis Al (e ft/ sl
Crws ) S ya uad W) ) S5 calhai A 5 sgudial) dland) Jia dgoliiio Loy < pua¥) i A Y] (b)) jlaisls )
S Aland) ) e g U L) ¢ dguliial] <o pa YT o LT Al 5 pe (o ST lgihai die (s (wes us))
3806 Lgihiss divea LalS S0 3 6 (5 58 G T ¢ 3 gail) usnss 5 pR Y] LSl & puaall f3b Cininid LalS S ol
(Alsd] LalS) 5 0 4S5 5 lgia S5 Y] gl

Those errors give evidence that there is a level of lexical, syntactic, morphological and

phonological processing before speech is produced.

SIS U] 8 A gl 5 SN 5 Ay sail) g Apenmal) Aadlaall (5 gise 3ga s e SUls gUaal o2 laa
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1. one wants to say " ... to break up monotony ......" but says " to break up the mahogany " instead.
That lexical items are organized by either:
daeazall jualiall da alaii 2% | to break up the mahogany 4= Y JGé to break up monotony Jsi o 2 padd

() gla i) Ca el ialSl) 4 5 seall 2 jacad) Gl & geally dalaial) Zailal) eUad¥) (e 028 ol inall ) ddassd 5
a.Sounds <yl

b. Meaning

c. Syllables

d. Morphemes

2. one wants to say " paddle tennis " but says " talddle tennish " thatisa ....

Gy LS & gaally Liagf ddlaiall ¢UadY1 (0 02 ) talddle tennish e Y J& paddle tennis Jsé O 2 padd
(Fsalal) A all 5 geall Jiiail

a. Error at the lexical access stage

b. Error at the syntactic representation stage

c. Error at the phonological representation stage £ gall Jiiail) dda ya b Uad

d. Error at the morphological stage

3. What kind of phonological error is the following saying "I can't cook worth a cam" instead of " I
can't cook worth a damn"

I o= YuTcan't cook worth a cam Jisi cps ((sseal) Jiaill Al o dalal) dls yall aiaily ) 4 puall eUadVI (e & 53 6l
can't cook worth a damn

a. Exchange error

b. Perseveration error (5 :tiall) a3 ) <) Uad

c. Anticipation error

d. Exchange error

4. If someone wants to say "if you can find a garlic ....." but he said *“ gargle ” instead of garlic .
that gives evidence that lexical items are organized by their :

padais Say il Qs Lany 138 garlic oe Y gargle J& 4! if you can find a garlic Jsi of saaad ol i 13
ddais) g9 danmall jaliall

a. sound < gal)

b. meaning

c. labels

d. morphemes

5. If you wants to say 'hash' or ' grass' and says 'hass' or ' grash'. Thisis an:

(dalal) dla yall (e elaa1 o2 ) (e 138 grash sl hass e Yo <l s grass sl hash Jsi of @i 13)
a. error at the lexical access stage

b. error at the syntactic representation

c. error at the phonological representation (gl Jaiaill dda o 8 Uad

d. error at the syntactic representation

m
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6. What kind of phonological errors is the following ' saying hass grash instead of hash or grass '
hash or grass e Y hass grash Jss ges (Ssal) Jiiaill da jo dsalal) Als jall aialy ) 4 peall eUad¥) (0 ¢ 53 6l
a. segment exchange error _(adl Jaadl) Uad

b. perseveration error

C. anticipation error

d. word exchange error

7. if someone wants to say ' please give me the hose ‘But says 'nose" instead of' hose'. That gives
evidence that lexical items ( words) are organized by their:

aliall alati oSy asl Jila aey 138 hose" e Y nose Jié « please give me the hose Jisi of gasai o i 13
idais) g1 danadl)

a- Sound < gall

b- Meaning

c- Syllables
d- Morphemes

8. if someone wants to say " speak " but says' sneak” instead. That is:
sneak leie Y JB 4t speak Jsi of pasd 21 13)

a. An error at the phonological representation stage (gl Jeiail) dda o 8 Uad

b. An error at the syntactic representation stage
c. An error at the lexical access stage

d. An error the morphological stage

9. What kind of phonological error is the following saying Steak and sake™ instead of" steak and
shake "
steak and shake ¢ Y Steak and sake Jull sl 3 45 pall cUadY) e g g3 ol

a. Perseveration error (3tall) a3 i<l Uad

b. Segment exchange error
c. Anticipation error

d. Word exchange error

m
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lecture 8

The Hearer: Speech Perception and Lexical Access (ceaszall Jsa gl g 2SI &) ) - adiowdl)

Perception &) Y

Perception is awareness, comprehension or an understanding of something.

The hearer’s task is almost the mirror image of the speaker’s task. First, using information from
the acoustic signal, the hearer reconstructs a phonological representation. The hearer enters the
lexicon using that phonological representation to retrieve the lexical items that match. This
permits the hearer to recover the semantic and syntactic details of the words in the message.

(Brdlaal) Algs 4 J g2 (5 e DY) ) ) g AN L) i lad (o (a0 Gy 1AdALa)

Lo o 8 Ol ol cagdll ¢ e o)) sa &l aY)

ainsall damy ¢ A gaall 5 HLEY) (e e slaall alatinly ¢ Yl Chaniall degal Jia¥) (Bada by sacn Uy )i aaiosall g 22
ey 138 50 ) dpamaall jualiall g la jind 3 saall Jiadl) 13s aladinly pseall aaiusall Juay (3 gaall Jiiaill £y
Al ST A gl g AV al ULl Jaalds alatinly paiusall

From right to left. Jlbed) ) cpad) (e

170 THE HEARER: SPEECH PERCEPTION AND LEXICAL ACCESS

S

NP, eq) VP i
A
Det T \f[,ggl NP

The girl pets Det N

| Syntactic < Lexical ¢ Phonological Auditory
selection representation = system

BESUNSTr S
il e 5850 el (e Tani ¢ ladll 2 L) e s 2SN &) ) )
&) B saiall & gaall A 3 a3 ¢ guall Jall) ) el aand) Aail) Qs & ¢ gual) pans ¢p o JS S5 Y
Al dla e
A A el Y ey 5 ¢ ClalS) apusi & anaal) LA
S 5 S i) e LS 2K 381 1 g gadl) Jiadl)
Cgeall 138 Jsa s K8 e Jeani |yl
Extracting phonetic elements and words from continuous, unsegmented, highly coarticulated
signal poses difficulty in speech perception and lexical access.
cemnzadl Jsa ol g KN Sl ) 84 gra S8 jae e Alial gie ol L) e S g Ol palY) ()

Perceiving Speech a3l &) ;)
There are three features of the speech signal that the speech perception system must deal with:

1. the signal is continuous, 2. it transmits information in parallel, and 3. it is highly variable.

SN @) ) Al Leae Jalady o cans Al 23S0 5 HLEY (ailad G ellia
ol B L) Y ¢ ) sie S e slaal) a5 Ll Y ¢ 5 paiea 3 LEY) )

m
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THE HEARER: SPEECH PERCEPTION AND LEXICAL ACCESS 171

T |

EL_,J.,. A

A geall il gleall (g 5 il Jl )0 a5 IS5
T3 08V ) el o JEal Jod a JS21 138

Parallel Transport Starts the first letter pronunciation and enters the second letter in parallel
without spaces
Dinner table talk
another example: When you are sitting with a group, the mind does its work and realizes all the
conversation in the session in the same way to understand a single word
el i 0 s ) sie JS (SEN Caall Jany s J Y Gaoall has Ty 5 5) sall Ja
Lial) 320 Jsa Euaal)
san) 5 AalK agdl 45y Hall iy Audall 8 Aolaall JS & jay 5 aleny Jinll o gy ¢ de gane pa (uda Ladie ;AT Jlie

Constructive speech perception and phonological illusions 4 s«all ala s¥1 g ¢l aMSI &l o
Another important property of the speech perception system is that it is constructive. This means
that the speech perception system takes information anywhere it can find it to construct a
linguistic percept of the acoustic signal.
Ol 43Sy S (s (g e glrall 22y 2DISU ) ) aldas iy 138 5 Beliy Lal o 2DISU @) ) aldail (5 jaf dals dpala
A peall 5 L (5 1l & 50) el s,

McGurk effect dasa il (giadll aLa)

(McGurk and MacDonald 1978) — illustrates how visual and auditory information together affect
the construction of a phonological percept. If you watch a video of a person mouthing [ga ga ga
...], together with the audio track of a person saying [ba ba ba ...], you will hear neither [ba] nor
[ga] — but [da].(watch the video)

S gaga oS A gadd el gl (8 S gall dl oYl el (8 e dmand) 5 4 pead) Gl sladll i (S gy
ga sl ba gens ) 1 da phial) pans il JaaDlin ill 8 dada edies baba LS
e Visual overrides audio and vice versa
e Lip reading

Ll 435 geall <) HLEY) plaw e adad oladl) 3¢ i (L Jasi 5o 12a

m
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ALl al o cpe ALicd)

1. In speech Perception(hearing), which of the following operations take place first:
Yl s ye sl ¢ (pandl) 22U &) i

a. lexical access

b. syntactic representation

c. phonological representation csigall Jaiail)

d. morphological representation

2. ( Choose the correct statement ) In constructive speech perception:

£l DS &) 50l 8 (Aagaaall 5 jladl jial)

a. the speech perception system takes information anywhere it can find
Wasy o diSas l8a (sl e il glaal) JAL NS &) Ha) Al

b. the speech perception system mishears the input

c. the speech perception system focuses only on the visual input

d. the speech perception system focuses only on the verbal input

3. If someone watches a video of a person mounting [ ga ga] together with the audio track of a
person saying [ ba ba ], he will perceive it as . This is called :

¢« Al =il [ba ba] bsall adhiall e [ga ga] (bsall adaiall Jalaiy Lo (add] gaaid adata el Y aal aali 13

Lo 132 ((da da platiall pany 45) ALSEN) a8l J)gud) ) W jiaa

a. dichotic listening
b. lexical decision
c. McGurk effect ¢l asa il
d. semantic ambiguity

4. If someone watches a video of a person mouthing ( gaga) With the audio track of a person saying
( baba) , he will perceive it as ( dada). This is called: bl J)sadl (s

a. Dichotic listening

b. Lexical decision

c. McGurk effect

d. Semantic ambiguity

5. IN speech perception ( hearing) , the syntactic representation stage comes after:
a5 sl Jiaill A jo 5 ¢ (aandl) 22N &) ) b

a. Lexical access (aaaall J gagll

b. Syntactic representation

c. Phonological representation

d. Morphological representation

6. In speech perception ( hearing), which of the following operations takes place after the lexical
access a stage: eszall JLia¥l dla jo axy AU QU Clleall (g} QSN &) o)

a. Phonological representation

b. Articulation stage

c. Syntactic representation s s>l Jifaill

d. Morphological representation

m
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7. Which of the following options of related to constructive speech perception:
oLl DI )yl Alal) el 4l el HLadl e
a. McGurk effect ¢l asa il

b. Chomsky's effect

c. Phonological anticipation

d. Phoneme analysis

8. McGurk effect is : s &l aSa ,ils

a. Only experienced when people are tried
b. Is a result of inattentiveness

c. Truly illusory (true illusion) (A8 b g

d- Semantically ambiguous

(8 Laiaa) SIS &) 3] g (Sa2ail) AU ZUH Ja) ya o (B ageall (o

speech perception L. phonological 15 | ¢ ical selection 5, SHEGIE
P ;«5 &) _,,p representation ' B syl representation
N i gall Jaiail s & sl Jiiadl
speech production 1. Lexical selection rezprizgl:ﬁ?;::gn 3re g?:sr;ﬂ;%'gﬁl
) C{ P k] | oyLaay) : .
N el s s sl el s small Jiiall

m
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lecture 9

Phoneme restoration ( watch the video) < gall 5alaiu)

Another kind of illusion that illustrates the constructive nature of speech perception, phoneme
restoration, was discovered by Warren (1970). Warren took a recording of the sentence The
state governors met with their respective legislatures convening in the capital city, removed the
[s] from the word legislatures, and replaced it with a recording of a cough of exactly the same
duration as the excised [s]. Listening to this sentence, people reported that the [s] was present in
the signal, and that the cough was in the background.

Example 2: If we add silence between the /s/ and /I/ in SLICE (30-40 ms ), English native
speakers will perceive it as “SPLICE.”

lea (e Daaas 331 Cun Warren 48! ¢ ¢ geall salaial ¢ AN ) 0y 3elil) Anplall i 51 g3 pa 5l (0 AT E 58
g A Jlas O gaay Aol 5 (o2 138 ulas) Jegislatures el (e s s Cadag pli g (e V) 8 iYL ALl
Alal) A S Jld) Cisas s 50 PS5 Caa o Gl S0 Aleall plain¥) ol Lalad o jal) ks

Coplaal) (pfiantiall s pinnn (A (b Jo €00 N sn) SLICE 4alS 8 [/ 5 /5 <iya o §) 8 Lsal 1Y) : AT s
SPLICE el 4, sulai¥) 45l

The phenomenon of phoneme restoration demonstrates the perceptual system’s ability to “fill in”
missing information, while actively trying to recover meaning from an acoustic signal: what we
hear is sometimes not what we perceive.
The explanation for the effectiveness of phonological illusions lies in the operation of the lexical
retrieval system.
inal) ol 28060 8 J glad Laiy ¢ 32 s88al) Cila glaall e Ja" e S) oY) AUail) 3508 ¢ gaall 3alatiul 3 yaUa ma i
Slad aS 505 e o drans Lo IS G (A5 ga 3L (e
omamall g la i) st ol b 4 sl ala oY) Allad yuuad (1S,

mondegreens (Slips of the ear ) o3 4

Slips of the ear are similar to phoneme restoration effects. Consider the person who “heard” She
had on a French suit, from a signal produced by a speaker who intended to say She had on a
trench suit. Slips of the ear are also called mondegreens,

(This guy = the sky)

e An important difference between slips of the ear and phoneme restoration effects is that
the former are often the result of inattentiveness to the signal, while the latter can be truly
illusory.

) () o ol Leilat Al AK Jay dme A aas 48 ) gy aaiialld O gal) salatiad 3 aUs 4k 31 A )
mondegreens ! \le lhay 314l ( trench <ulS 3aS) Ly French 4alS pas 4il ) suad Gilad) JUial)
sKy,guy 4alS o g lawll Lalay AT Jis

Balaiea) Lainy ¢ )L oLt ade e (5685 38 M) A5 1 gl alaindd 3 5ol g 3V AL (0 age D) llia

il Laa 5 () 65 8 & guaal)
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Bottom-up and top-down information Jiay A crmy Aei ) Jial o cila plra

An influential concept in psycholinguistics (and in psychology in general) is the distinction
between bottom-up and top-down processing. Psycholinquistic processes are, at their core,
information processing routines
we can ask to what extent these processes are triggered automatically based only on the acoustic
signal (bottom-up) or are aided by contextual information <either in the communication situation
or within the sentence being processed(top-down).
V) o s eV ) Jau) (yo Aalladl oy Sl 8 (ale JS il ple (3 9) (ool A3l ple (8 S3all o sgdall
e glaall dyisi 5 ) el ya) ¢ b ga 8 ouiil) Jiladl cililee Jaud) )
S (el () Jau (pa) A puall 5 LaY o o alaic YU Wl 2 cctibleall o3 Jaanli o 530 (sf ) Jlos of LSy
(Jisd ) Jef e ) dlaall dallae ol 5 Joal il Ala 8 o) g ciiludl il glaall 33 Lisay
we use information processing in two ways (top-down OR bottom up). Information is everything
we see, hear, or experience.
3l cdaan col yila JS (o8 Cilaslaall o Aol ) dind e ol dind ) e e ) 1oy yhay il slaall dallas padi
RIPTEEX|

Bottom up: If you use the acoustic signal (i.e. speech of the speaker) to understand what the
person said, then this is bottom up. For example, someone says ‘I will see you after the class’ and
you think he just wants to see you after the class.

i) e 058 138 Gl ¢ (il 4l Lo agdl (Caaaial) i (sf) 43 saall 5 LAY aading i€ 13 1 Ao SU Jaul) e
il ey @iy 5y dad 4il K& "Caall e @l L anaal O ¢ QB Jas e e

top-down: if you use context or prior knowledge in trying to understand what the other person
said. For example, someone told you Ali heard what you said about him and he is very angry
right now. you meet Ali and then he says ‘I will see you after the class’ but this time you
understand something different (that he will start a fight for example). This is understanding
aided by context so it is top-down processing.

JB ¢ JUall Juss o AV (adil) A8 L agh 4 slae 8 Aalull 48 peall i Sladl axains <S03y sdiad ) el oa
Cragh B pall a2 8 (81 ¢ M"Caall aey @l Hlu 0B e GllE iy oY) s uale g g aie 4T e pan e o) araal
i) ) oY) e il slaa sgd ol e dlaie W Cuegd el Lia (Slia JUl fagpus 43f) Waliae Gl

A A VI o s plos g 8 puin pal] S pa dilis Gl sl Siic lisY) & puin pall 58 Lo i pod S [ - jlaisly)
(A Jis¥) o o plas g & puin pall o linsa 586 o ] S0 Al 1) Lof i SinsY)

bl alads e Jlia ) giSall S35 jualaall dilgs b
alas Y JAY o) (e da slae Line Jadadll plada DS @by (5 guuill Cam ja g Jad 430l 5 @l ) ae lied i€ 13 jlaialy
ASY Jhal (e L slaall S5 L lia Lgmans Al Ae sleall 22l Jaié g8
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ALl a) oY) e Al

1. Choose the right sentence. In top-down information processing:

iy e (e e slaall dallas & Aspaal) YY) il

a. We use context to help us get the meaning el JAe Jgaall b Bacloall (glucd) addins
b. We don't use context

c. We don't use the processing knowledge

d. There's no information processing

2. IN bottom-up information processing....... (Choose the right option)

(el daall ia) ) eV Jiud o cila shaall dallas 3

a. We don't use the acoustic signal to get the meaning

b. We use the acoustic signal ( speech ) to get the meaning Jg<aall (adsl) 45 guall 3 LAY asdid
o) o

c. No information processing

d. We use top-down information processing

3. If you use context to guess the meaning of a sentence your friends said you will be using
............. to understand that sentence (e.g. you saw your mate says cats food as you were
leaving to supermarket ). Fill the blank using the right option .
¢ JEal) Qo o) Alaall el agdl L AR s il lilBacal J8 cdleall Jina (pedil Bl ardid <€ 1)
el LAl alasinly ¢ 8 Sl (@S e Lo sl ) el jalane oL Jaadl) slade J sy @l j il
a. top-down processing  Jis Ao ¢y cila glaal) dallaa
b. bottom-up processing
c. no information processing
d. top-top processing

4. If you use the acoustic signal ( i.e. what the other person understand a sentence) , you will be
using : .......oooueenn. .( Complete the right option )

(el JLall JaS) padiuiind ¢ (aall G DAY (addll dagds Lo gT) A uall 3 LEY) padiud S 13
a. top-down processing

b. bottom-up processing A diui ¢y cila slaal) dallas
c. no information processing
d. top-top processing

m
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lecture 10

The Role of Orthography s>y |
The orthography of a lanquage is its writing system, including the characters (graphemes)

Reading involves matching each symbol with a phoneme.
English/Hebrew bilinguals in a deletion task were asked to delete the first phoneme in

monosvllabic words (qun/but). English speakers outperformed Hebrew speakers because of L1
orthography.

Explanation from Dr. :(English speakers delete the first sound, Hebrew speakers delete the first
letter)

) an ) Dl Ly Galalll LS AU g 3all o DY) Al
A g a8 a JS daUaa Bl jall panal

G585 ,(QuN / but) Jie alaial) Ayl S 3 g ol Cada il Rage b ) / A Sula i) dall) 05 e il
2 agiad Lalal) Aoy ae ) 8l Ll s & paall  Jaaie e 35 5l Jaaie

Capall B & pall Jaaia Lal e un, Ut b & gea J 5l ¢ s 4 jalail) Dl (pfaaiall o e ) g€l - 5
(Al Jie U <o ya o G 0t Ll silaid J oY)

Stages of language perception (not production) ( L4k} (pud g) 4alh) &) ) Jal sa
1. Accessing the Lexicon axaall J ga gl

The speaker accesses the lexicon using information about MEANING to retrieve the
PHONOLOGICAL structure.
The hearer’s task is the opposite (Phonological representations- information about meaning)

Lexical retrieval is remarkable (1 from 80000 items in a fraction of a second).

Lexical access is affected by meaning and form relations among words, and by variables such
as phonotactics «word frequency, and lexical ambiguity

any evidence ?

AL pall Al salainy Szl J s Gl glaa aladials anaall Gaadial) Jiay

(el Jon e slaa - A pum i ) oSl o 548 painall Lol

(A ee a (A paic Avenn ) e Bsale anzall (e ASD) cle il

g g AalS ) S5 ¢ et pal) Juales s 8 2 e ) uiial Sl IS (o A8l g inaly snmall J sl S
Al o o Ja dalsl)

lexical decision task dxassall ) &) dega

A technique widely used to investigate lexical access is the lexical decision task. Participants are
briefly shown a string of letters and asked to push one button if the letters constitute a word in
their language, and a different button if they do not. Responses in a lexical decision task tend to
be very gquick, ranging between 400 and 600 milliseconds.

Aluds ity (4 Jliall pelay Asansal) AN daga (2 5 oannall ol (b (3oatll ol 5 (3l e i 45
A 8 2L Te g £e e gy ¢ Vom o e 580 (o o) ) 0 g 250
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The computer calculates how long it took each person to respond (yes or no) to each
word or non-word.
In a lexical decision experiment, participants will see equal amounts of words and non-

words, and within the many words they will see throughout the experiment, a subset of
those is of interest to the investigator: those words contain a contrast being investigated
in the experiment.
Aapa e K A S il 1Y Lae (Y 5l and) 2l padid JS L jriul ) saall i sanaSll Cany
LSl Ay Aapaall e Glalll ) daiaall GLSH (o 4 sbudie GlaaS O oS LAl Lo ¢ dpanan ) B jai
Al 8 LS 2 e (5 gind LSl o3 Ginal g L e pane (8 ¢ Al DS L s 30 82008

Table 6.1 aasal )g)mw‘é_, - AlE

CLOCK |[] DOCTOR [] ZNER [] FLOOP
SKERN |[] NURSE |[] TABLE (] FABLE
BANK [] TLAT [] URN [J MROCK []
MOTHER [ ] PLIM [] HUT [] BAT []

e Quicker responses to Tlat, Zner, and Mrock.
e Slower responses to Skern, Plim, and Floop.

e All of them are non-words BUT the first three violate English phonotactics.

(impossible non-words) .. The other words are possible non-words ... That is

non-words that don’t violate English phonotactics (phonological rules).
e For correct words, faster responses are found to words like Clock and Bank than
Hut or Urn. (the first are frequent words)

Tlat, Zner, and Mrock. <illl ¢ ¥ iaiuY) o

Skern, Plim, and Floop. <ilalll UaY) iaiuY) e

(RS 65 ) Jatiaaal) (4a) b pual) Judosi 2o 8 < yu€ oY1 de ganall ST 4 Slad) S Cul LIS @
il gaal) Juduf ae ) B 3 o LiST A Sl S cad (b (RS 055 O (Saall (40 ) A0 de sanal)

&¥) Hut, Urn <l ;e 5T Clock, Bank @lalSll culS ¢ 5l dlaiu] dagsall cldl 4l o
(IS 3 S Y

O Sar Y Lyl Bl 6 Do Sl sa¥) (o (38530 g duads il paall Jualoii 253 5] phonotactics zeea i)
(w3¥ ) Gsall SU O oSa Y Bl Yo Ao L julaiy) Dilll 45 Cpalliio Sl (i pomn (0 ST L
Why ?
Lexical retrieval and lexical frequency.
The lexical frequency of a word can be measured by counting how many times a
particular word occurs in a large corpus for that language.

¢)3lal

(& o) 03580 oadll 8 Leile Sind 5 aladind) dails Ll inas ) L ) S5 5 3aS) £ la i

e 5 Sl (m gealll anf (8 Lia 2l Leid edis Sl el aae o IS e 4D o alll ) S Wbl oSy
sl ells
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Lexical ambiguity (aasall (2 gadl)
Ambiguous - having more than one possible meaning.
Ambiguous words = multiple lexical entries ?
Some research has examined whether such words have more than one lexical entry, and
whether having more than one lexical entry can lead to retrieval advantage.

Saine (e oo ST 35a 5 58 1 gail)

Badxie danza YY) diaalal) GlK)

S anae JA) e ST aga g Y Lag ¢ anae JB) e ST Ll culalS) sda cailS 1)) Lo Eganll ey iy
£l i) 5 3 ) g3 o

e Bank (money - river bank- snow bank)
Homonyms & lexical retrieval
Left (past tense of leave) & left (opposite of right)
Polysemous words (the mouth of a river - the mouth of a person).
Research from LDT found that polysemous words (e.g. eye) are retrieved faster
than homonymous words (e.g. punch)
e Homonyms = competing meanings = delayed retrieval.
() e Al - e i - (o ae ) Bank il
gl gla yinl) g uilaill
(2 A€ e ) 5l (b pall S (g el Jadll ) Teft 4alS Jie
(oY) ad - Hedll caas ) mouth 4elS Jie Jladll daxs
Aailaiall el e g pusl Leela i oy ilaall 320200 L€l () dpenadd) 10 doge o O fialdl 22
DAl el il = Al e = dudlaiadl i)

Priming: A ¥ Ay

A stimulus yvou just experienced will affect how you respond to a later stimulus- and
this associative response is true not just with linguistic stimuli, but with stimuli of any
type (pictures, smells, non-linguistic sounds, etc).

e Jah Fnins Canad Al Y et ) o3 g < adlill iall lidaiod TES e gill 48 ,0a) 2 jhal g e
(Al A chal e Slgal cxils) ¢ Hsa) g ol o leiall pa (Sl ¢ & lll Cilgial

THE HEARER: SPEECH PERCEPTION AND LEXICAL ACCESS 191
L_-_\N.! mv).a L_ANJ &:ﬁ).a J._gb
Related Unrelated

UJ}J\ R | I 1 = 7'

Prime nurse 500 ms cabin 500 ms

by DOC 500 DOCTOR %0

Target TR (B >

. |

Figure 6.6 MJ\)WL)QQ‘MJJP‘UJ;&

tomad Julds o8 1 Slay 5 S cajals o ) Gangll g 5 pia cajaly 3,90 Saey)
gl ekay 4000 3 ALl e il Reiad RN e Ry Y V) daeY) el
LY GUad e L Cpad) e LIS Glas ja Cangdl q-‘ﬂ\ Sac) il e

FALY JJL&OW‘SJ}“LL\JL.‘M ‘ U_,S" CJ.)‘&Y\ u‘.laay

LAY il puaiall g 1S aa Bike 30,90 cac Yl BALT ¢ (el s Ladis)
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Responses to the target word (doctor) will be faster when it is preceded by a related than by an
unrelated prime (unrelated word).

Ao ddaiiyo ye &S e ¢ (NUISE)les A yo Al Loy Ladic ¢yl (updall) Adsginsall N e aiu¥) ) Sin

&M\ ‘a‘ﬁiﬂ (ra i)

1. We use lexical decision tasks to ........ (Choose the right option)
(Aasnall 4l ial) Jdganaall ) Al daga prding

a. Examine dichotic listening tasks

b. Examine listening

c. Examine lexical access in perception &3 A aazal) J g gl) Al 4o
d. Language production tasks

2. Which of the following are used to study lexical access in language perception:
Ll &) ) 5 enad) Jgaa gl A5l pasi L Les ol

a- Dichotic listening

b- Lexical ambiguity tasks

c- Lexical decision tasks aazall ) Al daga

d- Lexical production

3.which of the following will be retrieved (remembered) slower in lexical decision tasks:
enzall )l dage 8 Uil (S5 (o_SH) o 3ledind Sy b Lee

a. Infrequent words 38k gl clalsl)

b. Frequent words

c. Clear words

d. Frequency lists

.which of the following will be retrieved (remembered) faster in lexical decision tasks:
ezl Al daga 8 g el IS (5 SX) o sledind Sy b Laa

A. Infrequent words

B. Frequent words 5,_sial) cilalsl)

C. Clear words

D. Frequency lists

4. In lexical decision tasks, there is a.. 2 s (exaall ) 8l dega 4
a. Segment exchange error
b. McGurk effect
c. Priming effect (Js¥) dasy) il
d. Right-ear advantage

m
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lecture 11

Types of priming (Js¥) ey £ s

1- semantic priming (associative priming ): this type of priming there is a meaning relationship
between the prime and target word

2- form priming: the prime and the target are not related semantically, but are related in their
phonological form

gl g oY) ALK o A giaa ADAe Al dae Y e s gl 13 s (daal el dlac 1) (VA slac ) )
A ol L (o ¢ e LB ) a2 31 kSl i 39 IS0 ey - ¥

The examples we have given above are of semantic or associative priming. In this type of
priming there is a meaning relationship between the prime and target word. Other aspects of
words also produce priming effects. There is, for instance, form priming, in which the prime and
the target are not related semantically, but are related in their phonological form: for instance
table will prime fable, and able will prime axle.

A e g il 12a 4 Lol jall slae ) J Y g 8l Je (nurse, doctor) 4alull 3 palaall 8 la S5 a3 Al PR
o ol Y dac Y il i Sl e oAl il s a1 Caagdl 5 51 ALK 30V A8Dle i
table, Jie st seall IS5 (U ja (ST (LY s oyt Conglls 1591 S )55 Laie KA1 a1 (Jidd
able , axle s fable

For example: 4Ll

semantic priming form priming
Prime Target Prime Target
student teacher cake lake
drive car gap map
mobile phone bell sell
nurse doctor sling bring
sin win

A new priming method: masked priming method _a&all (¥ daey) 48y b ;haas Al das) 48, 40

The prime word may be presented so briefly that it is not consciously processed, but will still
result in the priming effect. In this technique, the prime is “sandwiched” between a mask
(“###H#H##”, for example) and the target.

A Al e oY) alae Yl 5l o iiie il ¢ WSl A Y Cuan jlaials I AKI 4 24 38
a3l g (JGall Jasw o o ") U8 G 6V dlac ) ALK M) )t

m
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Mask eonne E
. L
— |
Prime table
— |
FAB s
Target RE

Figure 6.7  .aiiall 30 dacy) 4505 A G = 4 slae) Je Joa

In Figure 6.7 The mask and the target each remain on the screen for 500 milliseconds: typically,
but the prime only flashes on the screen for the impossibly brief time of 50 milliseconds. This is
not enough time for the word to register consciously — people generally report seeing a flicker
between the mask and the target, but they have no memory of having seen an actual word.
However, it is apparently enough time for the stimulus to prime the following target.

Jasd o ot 5V a1 AWK K0 ¢ Bale Al Ak 00 v sadd Aalal e Caagdl g sl e S Gy 6,7 JSAE
Ol G gae (ulilld - 2Kl Clagin GSlS Gy Gl 138 A0 8 ke 00 aly ailaadle cnal juad il 5L e
g€ (0 5S apiill 8IS g Al g ¢ 1D s Adad AalS Ay ) 5 SN Y (ST ¢ Caagll s g LN G pmnas Ay oo

(aagll

An experimental method called masked priming can be used to study both semantic and form
priming. In masked priming, first we show symbols (e.g. for example (@@ @ ) for 500
milliseconds. Then we show the prime word for only 50 milliseconds (impossible to notice
consciously), then we show the target word (doctor for example). The results suggest that people
respond faster to the word doctor (they say it is a word quickly if it is preceded by a related prime
even if it was shown for only 50 milliseconds) and they didn’t even notice it but it gives an effect.
(ridlise Gpitay Crivgr ) sl (5 sina s ) S (5 sine (G035 )5 58 S cunw ¢ Glad) LISD) (s & Gl e i)

Will non-words give a priming effect? (A58 dlasy) il Led Ja | Jaa Jaad ¥ Al clall)
Yes, (toctor or Zoctor) = replacement for (doctor) - gave a priming effect for the word (nurse) in

an experiment.
(nurse) 481 ¥ alacy) 00 Lidasy - (doctor) 4elS (\Sa (toctor or Zoctor) Jie Gl Llasia) 5la cans

e Lexical items are organised by their sound and meaning.
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1. In which task do we show participants a prime , a mask, And a target word:

gl 5 ¢ gLl g ¢ 5V alae Y (S Ll (o pui daga o
a. Dichatic listening tasks

b. Masked priming tasks _adiall Jg¥) slacy) 48
c. McGurk effect

d. Phoneme restoration

2. What is The concept that related to the psycholinguistics ?
¢ il all) alay 3laiall o sgiall Lo

a. Priming (Js%) alasy)

b. Artificial intelligence

c. Discourse analysis

d. Corpus linguistic

m
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lecture 12( kié cuiy g gl &) palaa )
Second language acquisition and psycholinguistics
(sl dall) ale g 40N dall) qiluas)

Second language acquisition 4l 4l Glus)
What makes some people better language learners ? alll alxic Juadl (alail) (s Jaag @3 L

-Age el
-Personality dpad
-Motivation Dl
-Cognition et

-Native language ¥ 2l

Age )
Research suggests that those who learned the second language earlier were more successful in
language acquisition.
Al L) Alas SIS S0 g 8 Al ARl ) salas ol o) ) la1 s
e ganas (Jil5 il g Vo (ot el 7 5) St e gana (el () sha s G saleal) o e sanal g Wil | slae
O dagiilld co e g o Laiul) 5 el 3l & ddlise ol HLia) Jany ) 5al Lany | JSL i Vo (e pt jlacl ) 55 ) sl
S G (553 Ao sanall g Cpaliat) G Jie ¢ giaaty O g Vv (e B aa lee ] Gl palasy)

Personality dxaidl)
Extroverted vs. introverted people
introverted: They don't like interact with other
Extroverted: They interact with other more
Extroverted learners are more successful in language acquisition (They don’t worry about
mistakes! - and they interact more with people)
Oaiiiall Qe ¢ 58l ghaty)
oLl e Jaladll (50 Y 2y o) shai)
) e ST slalaty g () slalay 1) gatidial)
() ae ST o leliyg - Telaal) e (sl W) Aol LSl 8 LAl ST () gaitiall () galaciall

Motivation _Jsaill
The internal desire to do or achieve something.
motivated learners are successful.
Lo o guiail 2ula Al A )
Al ARl QL) b e ST adl gy () galadiall

Cognition i)
Students with good cognitive abilities outperform (do better than) those with less cognitive
abilities.

(YA 50Vl a8l (553 (e Jaadl a ghal) Baadl A1 oW <l adll (5 9 DUl (3 iy
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Native language »¥ 4all
Generally speaking, if the first and second languages are similar, language acquisition is
facilitated.
(This could be a transfer effect) both language will effect each other
el (35S0 Al ClasS) ¢l Al 5 I3 liadll calS 1) cle Sy
Laguany (& () i aialll OIS ()l Ll e o 1a)
Transfer Jail
Applying knowledge (grammar, vocabulary, phonology.. etc.) of one language in another
language.
O Ayl Aall ae) 8 il ean ) AT A (AR (e (& el ) eclajiall cac) sl ) dd el Gkt (e Bl
(oAl dad 5 4 5y 25l s
This results in two types of transfer: Jall (e (e 5138 om0
1. positive transfer sl i
2. negative transfer (b Ja

Positive transfer (=¥ Jaill
When the two languages (first - second) share the same linguistic feature (e.g. word,
pronunciation, grammatical rule.... etc. )
(& . Al ac) gall 5 ghaill g Ll Jia ) Ay sall) ailadl) Guis (A5 - 1Y) ) Gl S LS Laie
For example: In Spanish, -s is added to nouns to make plurals like English (cars, books, etc. )
Sometimes the two languages share the same word which also can result in positive transfer. For
example, consider the following Spanish words
(Aceite = oil or - <w ! Azucar = sugar or - S« [imon= lemon or ¢« )
A alasY) Jie Leraad olandl -5 ddlia) by 4l 4adll d :JGal Jaw e
o Ll Ao ) ) 1Bl Jass (e W) Jaill ) Ll ga s of (S ) LS i il o 5L Wgaf
(Aal) LS 3k
Negative transfer (el Jaill
Is the incorrect use of knowledge of one language in the other (when the two languages work
differently)
(it S liadll Jend Lodic ) 5 ,al 43l 8 i 43y 48 jeall L Lalad) alasiny)
For example : Jt
1- Negative grammatical transfer =an Arab saying " | like car red" — "you good teacher"

In English the correct ' | like red car" , You are good teacher"

b canY) Adall Gas o Canoy By Salaiy) 2alll 8 L | like car red <ouad) Jisiy (s Alaall b : bl (5 el Jal
are 2elbuall Jedl) Capai o cangy 4 51030 8 L you good teacher «osll J s 4l dleal)

2- Negative phonological transfer = an Arab saying " sitreet" instead of "street™ - "sipring"
instead of "spring™. Arabic doesn’t allow CCC at syllable codas. Consider also p and b
replacement.

Al A ae g8l alas (A Y 3 usll e AU | oA O sty SIPPINg «sitreet ostsiy sl aladl 5 geall Jai)
P, b o o Qi) eyl dlliie Sl <l gaal EOE 2a 5y Y Ay 2l
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Knowledge types 4zl ¢ g
-Declarative knowledge = Knowledge that something is X (e.g. rules, information , etc.) ... It is
knowing WHAT. It is often Explicit and conscious.
Bapala g i)y Sl (L) 48 jae (oand (&)L Claslaall g 2o gall Jia) X sa Lo Ui ()] 48 jaa 1y o i) 48 jaal)
ALY el ol e cayas cails ¢ ASlaall daale b Gadid el Ladie  Jinag
- Procedural knowledge = knowledge of HOW something is done. Often it is unconscious and
implicit.
A dely pe oaSillle Lo lnd Jany (CiiS) 48 jae and 140 2 Y) A jeal)
DY) A 5l Jal e 8 JakY) Jie ael sl Gyt al o) is Lae) 8 48 e Aleal) G 0 Ay yall 2adl) Canai il 5 nay
JSa ()5S Alaad) G Ca ey Jai g sl 2 Y Sl U8 Jaadll 13la) Al Ledic
While learning any skill (e.g. language), we learn declarative knowledge first then with practice
we start to form procedural knowledge.
After enough practice, the knowledge becomes automatic (like driving a car, we start with rules
but then we drive automatically without thinking about the rules).
As we get older, we rely more on declarative knowledge (which is not as efficient as procedural
knowledge for skill learning). This explains age effects partly.
Al ) A8 prall 0 sS5 8 Ta A jlaall g o5 Y 5l Ay 5oyl 4 jeall alaii ¢ (Aadl) aled D) 5 jlgw g ala oL
8 e () 50 TOlEE 5 8 Uasay g s L T ¢ 5 Jlanel 52U8 (Jia) 2008 48 pmall s ¢ s jlaall (30 IS 5 20,
(=) A
13 () jleal) alail A0l ) 48 paall Jio i€l ity Canl 3 Ay 500 6 pall o ST adiad ¢ jeal) 8 Liadi aa
Aall) alat e yeall i iy L

AL o) oY) e Al

1. Which of the following factors effect language acquisition:
Gl QL) e 55540V Jal g2l (e Lﬁi

a. Hair colour

b. The number of languages learned by brothers

c. The location of the school

d. Personality 4saddl)

2. Choose the correct statement: (Second language acquisition representation stage becomes
Easier if ) :

(13) Jgems) A0 Al i€ iy ) sdaganal) AaY) jial

a. The two languages are similar_¢bigldia gliall) cuils

b. The first language is English

c. The two languages are different

d. The two languages come from different roots
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lecture 13 (ki cuiy g ) <) pialaa)
4all) ) i) Language impairment

Language vs. speech disorders aMsll &b jhaua) ke dall) &) haia)
Language disorders: impairment affecting language only
speech disorders: interrupt the flow of speech ,maybe something wrong with articulators, but
language is not affected, language is intact
Al il il g 2K bl jlacal G (3l
L Al 3 S ol jlaal Aall) cly jhu)
o S I ) Ao ARl ¢ Al Y AR S daaliall A A o o Lag ) ¢ aDISD (385 adaliy < aNSY) ] el
(e Aall) 8 G g 22N laial 46y 5k
Forms of language impairment: 4all qi jal csa g1 il

Forms of language dall) Qe
Phonology il gaall ale
Morphology Cipall ale
Syntax il ale
Content of language dall) s gina
Semantics AYall g el
Use of language 43l aladsia
Pragmatics

Definitions of some Language Disorders (LDs) 4l ey jasa) (and ciy jlas
Aphasia: an acquired loss or impairment of language function caused by brain disease or
dysfunction.(cancel) &Gl 5 jpalsall & Gl coy il 6 cale Cay jaill 13a
Alexia: loss or impairment of the ability to comprehend language in written or printed form
caused by brain disease or dysfunction.
eihs JIA g Elaall (i ye s A sadaall 4 il Aalll agd e 5 )8l Camia f (188 13e) AN Jas Alexia

Agraphia: loss or impairment of the ability to express language in written or printed form caused
by brain disease or dysfunction.

by JI 5 g ladll (mpe s de b ol LIS 2all) e il e 3 a8 Canaa f i 40S) Jae Agraphia

Possible causes of Language Impairments (LIs) sl ol clisa
e Braininjury s Guls G gleall Slbal
e Earinfections oY) el
e malfunction of the respiratory or speech mechanisms < i Gudiill 41 8 Jlac
e malformation of the articulators (e.g. cleft lips) (4&sadall slilll : Jic) Jualiall o i3
22 L) sl lileiae lisla] libiill
COGNITIVE FACTORS (language delay): (3l b ) cilagiul) Jol o
e Deprived children (left alone) - language delay
(Al aled Al oy el S Ale U e shoany W a3 ey 268 5) () 505 el JUilaY)
e Punishing children for talking- language delay
Al alas HAL Gy agaal laill Al s JlalaY) ddlae
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¢ Ignoring them when they try to communicate- language delay
Al abei Al Cuanay Jaal 5l (5 slag Lo aglalas

Forms of speech impairments a3l qi ) e 1 il
Articulation: the abnormal production of speech sounds.
Voice: abnormal spoken language production, characterized by unusual pitch, loudness, or
quality of sounds.
Fluency: hesitations or repetitions of sounds or words that interrupt a person’s flow of speech.
(stuttering or stammering)
Al e OIS O gual gl 1 L) et
bty e ) e Digpadple e Gipa o il ¢ Apnb e 48 shie 43 ) 1 )
(il o sl a8 adals il Ll il peal ) ) S clan 3 cABI)

soft palate
nose upper teeth
hard {velurn)
alveolar ridge

palate
Fig.01

=]
—-*pharynx
The articulators

Reprd from p.008, 080517 Iar}fnx

upper lip

lawer lip %tongu

loweer teeth

Characteristics of speech disorders sl bl ) paibai
e Age-inappropriate articulation errors. YOl REWE RIS PR

e Dysfluencies. dalaidll axe
e poor voice quality i O peall 3292
o excessively loud or soft L jie JS5 Gaidie ol e Giga

Examples of Language Disorders (LD) 4alll el ) o Akl
Specific language impairment gald gl dinda (Juadily ¥ 5 palaall b da )l al)
Is diagnosed when a child’s language does not develop normally and the difficulties cannot be
accounted for by generally slow development, physical abnormality of the speech apparatus,
autistic disorder, acquired brain damage or hearing loss.
Ol (A sl cale JSy skl Chnia Can o i (e Y g ol JSG Jalall Add ) 5l Y Ladie Lpapdldi oy
el (a8 ) Sl ¢ Laall (ol sl o gl ol ylaal f (gl
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Characteristics of Specific language impairment (SLI) oaidl sl dinal) (ailad
e Good non-verbal skills (music- arts- problem solving- playing- etc. )
e Receptive/productive language problems
e Word-finding problems (lexical retrieval)
e Morpheme production problems (play - played)
e Immature or difficult to understand sentences
¢ Responding to orders problems.
(& .. calll o SR - Gl - s gal) ) Baua Apdadll) pe ) L)
Gl 2l g Jliial 8 JSLie
(e sledin) ) Gl Lo giall & (KL
(&) .. g Jamally bl Judll Cay jo Jia ) Cay il & LS
Jeall agh A4 s0ia
el A A4 paa

Aphasia a3l e 3 jaal) o) sl
Language impairment that is linked to a brain lesion.
gladll A ) pay Jasi ya (5 gl Coaia
Causes: bl
1. Injury gledll & dlal
2. Stroke 4o les A
» Progressive aphasia 2203 JS 4 gl &l Haal) Lead Canal 4 HOle
1. Brain tumours gLkl

2. Infections G gl sl
» Transient aphasia <85 JSG SN e 3 508l (y)as
1. Epilepsy g rall

Classification )i

Expressive aphasia (Broca’s aphasia) (watch video) 4saill aMsll e 3 a8l ¢y)asd
Disrupts the ability to speak (non-fluent aphasia)

right sided weakness in the leg and arm.

(Anpad e deun ) SIS (3835 8 ya

Gl s £ 1,3 e Gal) cailall b Cania

Receptive aphasia (Wernick’s aphasia) (watch video) 4:lLiiuy) aMsll e 5 adl) y)a88
Fluent aphasia (meaningless speech)

difficulties with understanding language

(& e ¥ (S Aapad ) oS5 lalSll) dapiad A

Pl g (8 4 s2m

Dysarthria (watch video) alalill 5l a3l s
Speech production deficit that results from impairment of the neuromuscular and/or motor control
system.
Soal aSaill alai o / 5 Lianll sl aSaill AU 6 Cheia Caps 2D 2] 8 Jae
P e 5 1S5 duin 5 i pd i LgT0a Lo (1Say il gnid 2 57
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Al ol oY) (1 Alicd

1. Which of the following is a possible cause of aphasia:
SO e 5l )il Jaine Cans st b Laa

a. A stroke in the brain_4&las dsu
b. Speaking two languages

c. Speaking one language only

d. Cold and flue
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